%0

%%1.%






%
0

+

34 5

(/

, 12



9 +

B4BC

4 #

D

i

<*






>? @A?# B BBA?
'? @A? ? ? ?

' ? B

.61. 111IDE >F 1 %FD GF.6F

.61.1 01J1GOB 0 7BFK%F6L% 1

F. G1 F%F %0 1%%F0GO0B 0 HBFK%F6L% 1
.61. 1 >FOF%%0 GOB 0

.61.1 1Q.F %0>1%QFD

R!1DE % QSF %1 GOB 0

2BFF%.1 1FD G1 ODKIF.61

TBFF%.1 1FDGOB 0

U I1DE BF F% .1 FVO0.G%F

vTZz=zIToO

BB BB? B

%17 T7%FG GF WSXSF%XSF OGF YO
$FDDE .G%0GF GF ZSF %10

FQ.0G1 SO 00KO0.6

?>2 ?B

DDFDD1% 0 FQDO06 0# 0.F$0IF.61 FBF [1D
E GF% GOB 0 OGF YO

0% 0 SK %F.F GOB 0\0KJ1

0% .0 GO .G%0GF F.G1.[0

? @A?
DDD 1S%F.[1

BBA?
F %10%6 6GO

G 60G1 F | %FDD1 .0 %FD G].K 0 G1
'F®FO0G1% 0.1F 1%7*% 1 GF ZSF %10









N B?B@_B B

0*6S 1 0 BFGF '0%6 0a
0*6S 1 9 0 FQD 06S%0 "0%6 Ha
0*6S1 0D BFDDbFD FQ D 06 0D "0 6D Mc3PDa

no? ?Bd A?B

0*6S 1 0 FDO "0%6D R#2e3CMa

0*6S 1 1 1EQ 1GF *GF%FD "0%6D CN3Ca
0*6S 1 0 %1KS%0G1% 0 0% OIF.60% "0%6 CTa
0*S1' OD 11 DDbFD "0%6D CU3NRa

N2 BBBB_B

0*6S 1 D 1D [bFD F%0 D "0%6D N23PUa

0*6S 1 0 ?%GF| GOD BFDDbFD "0%6D Rf32Ha

0*6S 1 0 .6F% %F60[J1 F ?WDF% g.K0G1 FQ IF.61
'0%6D 2M32Na

0*6S1 " 0 30 °'0%6D 2P32Ra

N ?'" B ??B@_B

0*6S 1 D 1D [bFD F%0 D "0%6D 223TMa

0*6S 1 1D %1$F61D "0%6D TN3TTa

0*6S1 0D .G KO[bFD "0%6 TUa

0*6S1 ' 1D FXSF% IF.61D "0%6D Uf3UCa

0*6S 1’ 0D IF.GOD "0%6D UH3UTa

0*6S1' 1D O0%FKF%FD "0%6D UU3CfNa

N @A? B ?B@_B

0*6S1 0 %0l 60[J1 "0%6D CfP3CCfa

0*6S 1 1 FKFW IF.61 F GOD D6% W- [bFD GOD %F 1D [bFD
'0%6D CCC3CC2a

0*6S1 1D 6S%.1D 0 XSF FD6J1 DS$F 61D 0D %F 1D [bFD
'0%6D CCT3CCUa

0*6S1 "' 1 .6F%D6*K 1 "0%6 CHfa

0*6S1' 1 FQIF GF %0l 60[J1 '0%6 CHCa

0*6S1' 0 %Q].K0 '0%6D CHH3CH2a

0*6S1' 0 % 1% GOGF "0%6 CHTa

0*S1' 0 %F7F%].K 0 "0%6D CHU3CMfa

NH

* C

Hf

NM
NP

N2

PM

N2
NU

PH

PP
PP
PR
PR
PT
PT



0*S1 h
0*6S1h
0*6S1h
0*6S1h
0*6S1 h

N7t B
0*6S 1
0*6S1

0*6S 1
0*6S1 "'
0*6S1'

0*6S 1"’
0*6S 1"’
0*6S 1"’

0*6S1 h
0*6S1h

AR 2?BY

0*6S1
0*6S1
0*6S1
0*6S1 "'
0*6S 1"
0*6S1"'

0*6S 1
0*6S 1

0*6S 1

0*6S1 '
0*6S 1"’

0*6S 1
0*6S 1

0*6S 1
~ ?h B

1 FD60XSF "0%6F CPC3CMHa
0 %F$SKiK 0 GOGF "0%6D CMM3CMNa
0 DKSDDJ1 '0%6D CMP3CNTa
0'160[J1 "0%6D CNU3CRCa RP
0 FGO[J1 G1'F.K G1# GO FGO[J1\.0 FG1D
S6jQ%071D "0%6D CRC3CR2a

k BB! BB B?B@_BB B
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1D %1$F61D GF .K 06 0 G1 %F7F 61 K1l B1 K 60[J1 GF
%Q].K 0 "0%6 C2fa
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@A? B?
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0 SG].KO mW KO "0%6D HC23HCUa
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? %FD GF.6F GO gl0%0 S.K 0 GF 01S60% QO0# .1 SD1 GF DS0D 06% WS o
[bFD# F .WODOG1 .1 XSF GF6F%I .0 1 0%6 Q1 C2# GO FD1S[J1 .FM!a3TP =
FQ IF.61 .6F%.1

\0O DOWF% XSF 0 gl0%0#0 %1 1SFFF %11S Q00 %FDF.6F FD1 S[J1

% 0= glo%0 S.K 0# K1l DFGF | F.GO %FD GF.6F F6j 1
'0%Q0D# H ? .FD60 GOGF GF 01S60.Q0# D60G1 GF F%.0IWSK1# E 1 1GF%
FQDO6 1G1 S.K* 1

p D= D BFDDbFD GO gl0%0 K F F%gl DF% %F0 O0GOD .0D GF F.G].K 0D GF
DSODFGF 0 SG GO.1)/-( GFD6F 0%6 Q1 F D1IF.6F FI KOD1D FVKF K 1.0 D# IFG 0.0
6F %E 00 %1 0[J1 1% H3M "G1 D 6F%[1Da G1D 'F%F0G1%FD# %F0i00% DF J1 71%0 G
%FK .61 GF XSF 6%0 0 FD6F 0%6 Q1

p = D DFDDbFD D1F.FD 1GF%J1 DF% %FO OOKqD# 0 K% 6E% 1 GO FDO
VFKS6 0 GO gl0%0# 71%0 G1 %FK .61 %F7F% G1 .Y GFD6F 0%6 Q1# %FDK .G .0
G1# 0%0 FDDF 7 I# GF 0S61% O0[J1 F.L%0

p MU= | XS0 DXSF% GOD Y j6FDFD %F D60D .1D pp 0% 0%6F 7 .0 # F HB#
GFD6F 0%6 Q1# GF F%L 0 FDO VFKS6 0 6110% 61GOD 0D %1 GF.K 0D .GDF.DLFD
0%0 ODDFQS 0% 0 SW K GOGF GO0 ISGO0.[0 F DFQS%0.[0 060 0D GF WF%0[bFD

% HO = gl0%0 S.K 0 E K1I11D60 GF 'F%FOG1%FD# FQ*6 11D
%F %FDF.60.6FD G1 11# FF61D F1 DD6FI0O %1 1%K 1.0 F 06%0ED G1 161



G %F61 F DFK%F61# 0%0 SI 10.G061 GF XS06%1 0.1D F7S.K 1.0%L GF 0K1%G1 K1l
FD60 FD1 S[J1# 1WDF% 0G1 1D % .K* 1D K1.D6 6SK1.0DF GO F ?%Qg. KO S. 0
KO0

p C = 0GO FQD 06S%0 6F%L 0 GS%0[J1 GF XS06%1 0.1D# K1l %FF.GF.G1
KO0G0 0.1 S10 DFDDJ1 FQ D06 0

p Hc= 1.601DF OD FQD 06S%0D 0 0% % GO .D600[J1 G1 S.K* 1#
10.6 GO 0 6%0G [J1 Y D6j% KOG1 .*K 1 G17S.K 1.0IF.61 GO gl0%0 S.K 0

p MH=  .D600[J1 GF FQ D 06S%0 G0% DFL .0 71%I0 %F D60 .1 KO *6S 1

DFQS .6F

0*6S 11

%6 MO=r gl0%0 S.K 0 %FS.% DF L# 0.S0 IF.6F# .0D GF F.G].K 0D
GF DSO DFGF# %F D60 .1 0%6 Q1 7 GFD60 FD1 S[J1# GF CP GF 7F F%F %1 0 Mf GF
$S.Y1 F GF HGF 0Q1D61 0 CP GF GFOFIW%1 K1.D GF%0.G1 DF %FKFDD1 0% OIF.60%
1D F%*1G1D K1l %FF.G G1D F.6%F 0D GO60D GOD %FS. bFD

p 0= D %FS.DbFD 10%KOGOD 0%0 0D G060D 7 VOGOD .1 ):-( GFD6F 0%6 Q1
DF%J1 6%0.D7F% GOD 0%0 1 % IF %1 GO m6 DSWDFXiF.6F# XS0.G1 %FKO0*%FI FI
DLWOG1D# G11 .Q1D F7F% 0G1D

p HB= gl0%0 %FS. % DF L FI DFDDJ1 1%G .L% 0# FV6%01%G .L% 0D 1S
D1 F.FD# K1.D10.6F G D bF FD60 FD1 S[J1

pMO= 10.1G1 .*K1GO FQD 06S%0#0 gl0%0 S.K 0 %FS.% DFLFI
DFDDJ1 GF .D60 0[J1#JD CPff *XS .OFa Y1%0D G1 FGF$0.F %1# 0%0 GO 1DDF 01D
'FWFOG1%FD# 01 %F7F 61 F'KF %F7F 61 1GF.G1# .1 F.60.61# GFD Q.0%# 06%0 ED
GO %FD G].K 0# 1S6%1 Y1%L% 1 XSF IF Y1% K1. F.YO01 F F.61

pNO= DFDDJ1 FQD 06 01%G .L% 0 .J1 DF L .6F%%1l GO O MfGF$S.Y1#
DSD F.GF.G1DF 1 %FKFDD1 0% OIF.60 # 0%0 ODDFQS%0% 0 0 %1 0[J1 GO F GF

%F6% OFD ?%][0IF.6L% 0D

p PO= OD DFDDbFD GF F%*1G1 FV6%01%G .L% 1# 0 gl0%0 S.K 0 DlIF.o

6F GF WF%0%L D1W%F 106E% 0D K1.D60.6FD GO K1. 1K0[J1

# !

$96&

% NO= 0%01%GF.0% 1061 GO 1DDF# 06E Rf "DFDDF.60a | .S61D G1 Y1%L% 1
10%KO0G1 0%0 1 .*K 1 GO DFDDJ1# 1W% Q061% OIF.6F# 1 %F7F 61# 1' KF %F7F 61 F
1D 'F%FOG1%FD F.6%FQ0%J1 | gl0%0 1D %FD FK6 1D G 1I0D FV FG G1D FO
ISD6[0 F 61%0 # 0 GFK 0%0[J1 mW KO GF WF.D F 10D 1 DFQS .6F

0Oa ?B ' ? B FKO0%0[J1 GO G060 G1 .0ODKIF.61 F K1 .1IF



0% OIF.60%# K11 1D61 GF# 0 F.0D# GSOD 00%0D G1 D %E .1%.FD# Sl %E .11F
1S G1 D D1IW%F .1IFD# 0GI 6 GO %F 1D [J1# XSF DF%L 1 m. K1 SDOG1 FVF%K*K 1
G110.G061

Wa ?B B FK0%0[J1 GF GF%0.[0 G1 0%6 G1 1S W 1K1 0% OIF.o
60%# K1l 1 %FD FK6 1 .11F 1S D Q 0# ODD .0G0# .FKFDD0% OIF.6F# F 1D GF%0G1D

Ka ?D F F 61D 1S %F %FDF.60.6FD GF DFSD 0%6 G1D# %161K1 0%J1 1D FG G1D
GF KF.[0 0%0 6%060IF.61 GF DOmMGF 1S$SD6 7 KO[J1 0 0 6110% 1DDF FI G060
1D6F% 1%

p H= 1DDF 1K1%%F%0 FI DFDDJ1 D1 F.F# XSF DF %F0 O0%L .GF F.GF.6Fo
IF.6F GF .mIF%1# D1W 0 %FD G].K 0 G1 'F%F0G1% I0D 160G1 F.6%F 1D %FDF.o
6FD

p HO= 1 Y1%L% 1 GFD Q.0G1 0%0 .*K 1 GO DFDDJ1 GF 1DDF# 1 'F%F0G1%
XSF ODDSI% 0 %FD G].K 0# .0D K1.G [bFD G1 p OGFD6F 0% Q1 K1. GO%L S| GF
DFSD 0%FD 0%0 7S.K 1.0% K111 BFK%F6L%/E A5) F O0W% %L 0 DFDDJ1# GFK 0%0.G1
.D60 0G0 0 FQ D 065%0

p MO= 1I0GOD 0D %1 G].KOD G1 0%LQ%071 XSF 0.6FKFGF 0 FD6F# 1
%FD GF.6F 70%L 1 DFQS .6F$S%0IF.61

8 %1IF61 10.6F%# GF7F.GF% F KSI % %0 1.D6 6S [J1 GO F mW KO \FGF%0 a
1 0G1 >%0D # 0 G1 D60G1 GF F%.0IWSK1 F O F ?%Qg. KO GFD6F S.K* 13
%FD F 60% 0D FD# %111 F% 1 WFI K1 F6 1 F FVF%KF% 1 IFS K0%Q1 DIWO0 .D %00
[J1 GOD 6%0G [bFD GF FO GOGF# W%0 S%0 F 06% 16 DI1 G1 1 1 KOIS60.QSF.DF3

p &= ? BFK%F6L% 1 /F A5% 061 K1.6*.S1# 7K0.G1 GF E# %1.S.K 0%0
80DD 1 %1IF61s#700F.G1# FI DFQS GO# 0 KYOI0GO G1D GFIO D'F%F0G1%FD F 0
1%GFI 0 7TO0WE6 KO# XSF# QSO IF.6F# SI 0 SH %1.S.K 0%J1# GF E# e0ODDI 1
%1IF618

p PO= ? %FD GF.6F GFK 0%0%L FI 1DDOG1D 1D 'F%FOG1%FD XSF %17F% %FI
1$S%0IF.61

p RO= 61 DSWDFXiF.6F# DF %FDF.6FD# DF%J1 .6%1GSO G1D F.L% 1#
6110.G1 ODDF.61 | FDO# 1 %F7F 61# 1' KF %F7F 61 F 0D 0S61% GOGFD K1. GOGOD

p20= ? %F7F 61 F1'KF %F7F 61 %FD60%J1 1$S%0IF.61 GF XSF 6%060 1 p
MGFD6F 0%6 Q1

p T= BF OSDF.6F# 1 %F7F 61 1S 1' KF %F7F 61# DFL 6110G1 1$S%0IF.61#
0F.0D# GOXSF F XSF K1l 0%FKFS

p UO= ? %FD GF.6F GFK 0%0%0 FI 1DDOG1D 1D XSF %17F% %0I 1 $S%O0IF.61
F YFD K1.KFGF%L 0 00 %0 0%0 DFS %1.S.K OIF.61

p Cf= F%I .0G1 1 %1.S.KOIF.61 G1 %F7F61 F G1'KF %F7F 61# 0
DFDDJ1 DF%L .6F%%1l GO 0%0 D0*GO GOD 0S61% GOGFD XSF K11 S.YO0I 0 FDO

p CC = ? 'F%F0G1% XSF .J1 6110% 1DDF 0 DFDDJL %F D60 .FD6F 0%6 Q1
GF F%0 700] 1# GF.6%1 G1 %001 GF CP "XS .OFa GOD G1 .*K 1 G1 7S.K 1.0IF.61
.1%I0 GO gl0%0# DIW 0 F.0 GF F%GO G1 10.G061# DO 1 116 1$SD61# OKF 61
FO glo%0 S.K 0



$%&
#

% PO= FOWF%60 0 DFDDJ1# 1 %FD GF.6F K1. GO%L 1 BFK%F6L%FIA5)J=
%1KFGF% 0 F% 7 KO[J1 GF XS1%SI# *uOF.G1 0 KY0IOGO G1D 'F%F0G1%FD %FDF.o
6FD# 1W$F6 0.G1 0%F0 OO0[J1 GO F F [J1 G1D IFIW%1D GO FDO

p 0= D60.G1 %FDF.6FD 010 1% 0 G1D 'F%FO0G1%FD# 1 %FD GF.6F GF6F%I o
.0%L 0 DSD F.DJ1 GO DFDDJ1# F 1 %001 GF Mf 6% .60a |.S61D# 0%0 K1l 1D [J1
GOD KY0 0D

p HO= F.KO0.G1 1D 6%0WO0 Y1D# 1 %FD GF.6F D1 K60%L 01D *GF%FD GOD
WO0.KOGOD# XSF F.KOI.YFI | FDO 0%0 %FQ D6%1 OD KYOOD K1l F60D F# 01D
KO0.G G061D 0 S D1D# 1D %FQ D6%1D GF DFSD .1IFD# XSF DF%J1 G1D F 1 BFK%F6L% 1

p MO= ? %FQ D6%1 GF KYOOD 1S KO0.G G061D 0SD1D 1GF%L DF% %FXSF% G1
%F OIF.6F# 06E 0.S.K0G1 F 1 %FD GF.6F# 1 .*K 1 GOF F [J1# .GF F.GF.6F0
IF.6F G1D G D 1D61D .1D 0%LQ%071D 0.6F% 1%FD

p NO= 0 K111D[J1 GF KYOOD 0%0 FF [J1 G1D IFIW%1D GO FDO#
DFI %F XSF 1DD* F # DF%L 1IWFGFK GO0 %1 1%K 1.0 GOGF G1D 0%6 G1D 1 *6 K1D
1S G1D W 1K1D 0% OIF.60%FD# FV D6F.6FD .0 gl0%0

p P7= ? %FQ D6%1 GF KYOOD 1S KO0.G G06S%0D 0S DOD# 70% DF L 1% FDK% 61#
XSF DF%L F.KOI .YOG1 01 %FD GF.6F 1% *GF%FD GF W0.KOGOW 1K1 0% OIF.60%#
1S0.GO 'F%F0G1%

p RO= D60.G1 %FDF.6F 010 1% 0 OWD1 S60 G1D 'F%FOG1%FD F D06 D7F 61 1
FV K60G1 .1D pp HO# MOF POGFD6F 0%6 Q1# 1 %FD GF.6F GF6F%I! .0%L 1 .*K 1 GO
160[J1# 0S61% O0.G1 1 BFK%F6L% 1 0 %1KFGF% 0 KYO0IOGO G1D 'F%F0G1%FD F O
1%GFI 0 70WE6 KO# G1D .11FD K1D 0% OIF.60%FD

p 27 = J1 YOF.G1 XS1%SI| .FKFDDL% 1# 1 %FD GF.6F K1. 1K0%L .10
DFDDJ1 0%0 1 G 0 IFG 061# 0 IFDIO Y1%0 F# 0DD # DSKFDD OIF.6F 06E 1 K110
%FK IF. 1 GO 10 1% 0 0WD1 S60# 0%0 F F [J1 GO FDO

pTO= F F [J1 GO FDO*3%DFL 1% FDK%S6*. 1 DFK%F61# 1% 161 .GF ODL F #
FI KEGS 0 m. KO | %FDDO 1S G06 1Q%070G0# K1.D60.G1 GO IFDIO 1 .1IF GF
61G1D 'F%F0G1%FD 0WO0 V1 G1D %FD FK6 1D K0%Q1D

p U0= .KF%%0GO 0 160[J1# 1 %FD GF.6F GFD Q.0%L G1 D FDK%S6 .0G1%FD
0%0 %1KFGF% 00 S%0[J1

p Cf= ? KO.G G061 .J1 0 KO.[0.G1 010 1% 0 OWD1 S60# DF%L %1KFG GO0
160[J1 F.6%F 1D G1 D ‘fHa 10 D 160G1D# 0%0 1D %FD FK6 1D K0%Q1D# DF.G1# .FDDO
D 6S0[J1 GFK 0%0G1 FF 61 1 XSF 6 F% 10 1% .mIF%1 GF 161D# DF Y1S F% FI 06F#
110D G1D1

p CC= | KOD1 GF FI 06F .OD F F [bFD 0%0 IFIW%1 GO FDO# F.6%F G1 D
1S 10 D KO.G G061D# $J% DF L 1 DFQS.G1 FDK%S6*. 1 0%0 GFDFI 06F# F.6%F 1D G1 D
'F%FO0G1 FD I0D 160G1D .0D F F [bFD IS. K 0 D# F# DF F%D D6 % 1 Fl 06F# DF%L
GFK 0%0G1 FF61 110D G1D1

p CH= BF%J1 .SSD 1D 161D GOG1D 0 K0.G G061D .J1 %FQ D6%0G1D



? ?
5
p CM= ?D 'F%FO0G1%FD F F 61D 0%00 FDOD4J1 %1K 010G1D FFI 1DD0G1D
F 1 %FD GF.6F# IFG 0.6F F..1 0%0G1 F 1 BFL7K6L% 1FY F5 %K*K 1#.0DF4J1

F6. XSF DF %F0 O0% DSOF F [J1 F F.6%0%J1 IFG 060IF.6F FI FVF%K*K 1
p CN= ?10.G061 GO FDODF%L GF fH "G1 Da 0.1D# FGOGO 0%FF F [J1 0K

XS0 XSF% G1D DFSD IFIW%1D# 0%0 1 IFDI1 K0%Q1# .0 IFDIO FQ D 06S%0
!
1 # (

$90&

%6 RO= FDO GO gl0%0# K111 1IDDJ1 %F61%0# K1l bF DF GO
%FD G].K 0 F GO BFK%F60% 0# K1.D6 6S*G0# 0 % IF %0 G1 %FD GF.6F F# 0 DFQS%4 ##
Gl % IF %1 F G1 BFQS.G1 BFK%F6L% 1

p 0= 0 K1.D66S[J1 GO FDO# E ODDFQS%0G0# 60.61 XS0.61 1DD*F# 0
%F %FDF.60[J1 %1 1%K 1.0 G1D 0%6 G1D 1S GF W 1K1D 0% OIF.60%FD XSF 0%6 o

K Ol GO 0DO
p HO= 0 0SD].KO G1D FIW%1D GO FDO F DSWD6 6S61D %FD FK6 1D# 1

'F%F0G1% 10D 160G1 0DDSI %L 0 %FD G].K 0
p 0= FDO %FS.%DFL# 1%G .0% OIF.6F# SI0O FO 1% IID# FI G.F
Y1%L% 1 %E!7%V0G1 F# FV6%01%G .0% OIF.6F# DFI %F XSF K1. 1KOGO F 0 10 1% 0#

GF DFSD IFIW%1D
pN9= F%GF%L 1DFS SQ0% .0 FDO 1 IFIW%1 XSF GF V0% GF K11 0%FKF% 0

fP 'K .Kla %FS. bFD 1%G .L% 0D K1.DFKS6 0D GO FDO 8DFI [16 1$SD61s
p PO= ? %FDGF.6F F1 O0BFK%F6L% 1 GO FDO .J1 1GF%J1 .6FQ%0%
11DDJ1 F%Il0.F.6F# DFKO 1S KF .XSE% 61# .FI FVF%KF% 0 7S.[J1 GF

*GF%
p RO= D GFK DbFD GO FDO DF%J1 6110GOD GO 10 1% 0 GF DFSD IFIW%1D# F

0%0GO0D FI  %1D GF 60D %j % 0D
= = KFF[J1 0%0 %F.10[J1 GO FDO G0%DFL.1 G0 DGF$0.F %1 G1

6F%KF %1 0.1 GF KOGO FQ D 06S%0# 1WDF% 0.G1 DF .1 XSF K1SWF% 1 0%6 Q1 P F DF<
0%LQ%071D# FVKF61 1 %001 0%0 %FQ D6%1$S.61 0 FDO GF KYOOD K1l F60D 1S
K0.G G06S%0D 0 S DOD# 0D XS0 D GF F%J1 DF% %FXSF% GOD 06E GSO0D Y1%0D GF OWF%
GO BFDDJ1

%8 )

*|

%6 2H=  FDO GO gl0%0 K1l F6F# FD FK 7 KOIF.6F# 0 EI GF 1S6%0D
06% WS [bFD FD60WF FK GOD FI F# .FD6F FQ IF.61 1S 1% FD1 S[J1 GO glOVOo#
| *K 61D 1S vV %FDDOIF.6F# 1 DFQS .6F



= %1KFGF%06110GOGF 1.60D G1 S. K* 1 XS0.G1 .J10 %FDF.60G0OD
| glo%o S.K 0# .1 %001 FQO
= FOW1%0% F F.KOI.Y0% 01 %F7F 61# .1 %001 XSFO F 1l FIF.0o
60% D60GSO GF7.%# 0jD 0%10[J1 F1 F.L%1# 0 %1 1D60 0%KO0 K1 ?%[00
IF.61 GO gl0%0# 0%0DF% .K S*G0.0 %1 1D60QF 0 K1 S. K* 1# %F 0 FKF.o
Gl# Ow j6FDF GO .J1 0%10J1 F1 F.L%1# 0 %1 1D60 FOW1%0G0O FO
FDO
= %1 1% %1$F61D XSF 7 VFI 0 %FIS.F%0[J1 G1 %F7F 61# ' KF %F7F 61
F G1D 'F%FO0G1%FD# 1WDF% 0G1D 1D %FKF 61D FQO D
"= 0%FDF.60% %1$F61D GF F G D 1.G1 DIW%F 0 OWF%6S%0 GF K%EG 61D
FD FK 0 D# 06%0 ED G1 0 %1 F 601F.61 6160 1S 0%K 0 GOD K1.D Q.0[bFD 1%[0IF.o
6L% 0D GO gl0%0
' = %F %FDF.60%# $S.61 01 VFKS6 1# D1W%F .FKFDD GOGFD GF FK1.110
.6F%.0
' = K1.6%060%# .0 71%I10 GO F# 1% 6FI 1 GF6F%I .0G1 00 06F.GF% 0
.FKFDD GOGFD 6FI 1%L% 0D GF FVF K 1.0 .6F%FDDF mW K1
= %FXSD60%# 1% D1 K60[J1 GF XSO XSF% F%FO0G1%# .71%I0[bFD F
Kj OD 0S6F.6 KOGOD GF G1KSIF.61D %F7F%F.6FD ID GFD FDOD %F0 O0GOD 1% j%QJ1 F
F.6 GOGF GO 0GI . D6%0[J1 G %F60# .G %F60 1S 7S.GOK1.0# G1 S.K* 1 FGF
DSO FDO %F61%0
' = G%Q %61G1D 1D DF% [1D GO 0D0 GS%0.6F 0D DFDDbFD FQ D 06 OD F .1D
DFSD %FKFDD1D F 6110% OD %1 G].K OD .FKFDDL% OD | %FQS 0% GOGF G1D 6%0WO0 Y1D
OKI.D6%06 1D
= %11S Q0% OD FIF.GOD | F ?%Qg. KOG1 S.K* 1
h = %1 1% O0[J1 GF .K1.D6 6SK1.0 GOKF# 1% .KO06 0 %j %0 1S 0
%FXSF% IF.61 KF'F%F0G1% 1S 11 DDJ1
h = G0% 0%FKF% D1W%F O F OW1%0[J1 G1 FQ IF.61 .6F%.1 GO gl0%0 F
DSOD 11G 7 KO[bFD
h = K1.7F% % 01D DFSD IFIW%1D 06% WS [bFD 1S F.K0%Q1D %F7F%F.6FD 01D
DF% [1D FQ D06 1D F0GI.D6%06 1D GO gl0%0
h =7V0% G %F6% OFD 000G S QO[J1 GOD 06 GOGFD GO gl0%0
h'=0G160% 0D %1 G].K OD KOW* F D# 1% D1 K60[J1 G1 .6F%FDDO0G1# 0%0
0 GF7FDO$SG KO0 F FV6%4SG K0 GF 'F%F0G1% K1.6%0 0IF0O[0 1S 0 %L6 KO G1 061
06F.606j% 1 G1 %F FVF%K*K 1 F GOD %F%%1Q06 0D K1.D6 6SK 1.0D G1 10.G061
0% OIF.60%
h'= FOW1%0%# 1S G1 1K1 EQ 1 GF *GF%FD F 1D %FD GF.6FD GF 11 DDbFD
F%I0.F.6FD# %1$F61D GF FQ IF.61 .6F%.1 GOD 1l DDbFD XSF 0 %1 0G1 F 1
F.L% 1#DF%L 0%6F .6FQ%0.6F GFD6F FQ IF.61
h' = %111 F% 1S0G160%# FI %6SGF GF GFK DJ1$SG K 0 #0D %1 G].K 0D
.FKFDDL% OD GF DS0 0 [0GO 1S XSF . %FI .0 K1l F6].K 0 FQ D06 0 GO gl0%0#
%F 06 0D 01D 0%6D CiH# .K D1 #0 *.FQ% Civi# p HB GO 1.D6 6S [J1 GO F mW KO
h' = 0%FKO;F F.KOI.Y0O% FG G1D FDK% 61D GF .71%I0[bFD 0 BFK%F6Lo
%1D S.K 0D
h' =0 KO O F.0 GOGF GF KF.DS%0 FDK% 60 0 'F%F0G1% 1S 0 F%GO

Cf



6F1 1%L% 0 G1 FVF%K*K 1 G1 10.G061# .0 71%I0 GFD6F FQ IF.61

h h = ODDFQS%0% .1D %FKFDD1D 1% 6S%.1# 1 06F.G IF.61 G1D KOD1D FIF%o0
QF.6FD# K1. 1K0.G1 0 gl0%0# DF .FKFDDL% 1

hh = %1 1%# % 06 OIF.6F# | gl0%0 %1$F61 GF %FD1 S[J1 GD 1.G1
D1W%F DVO 1%Q0. O0[J1# 7S.K 1.0IF.61# 1*K 0# %FQ IF $S%*G K1 G1 FDD10#
K% O[J1# 6%0.D71%I0[J1 1S FV6 .[J1 GF K0%Q1D# FI %FQ1D F 7S.[bFD F 7 VO[J1 GO
%FD FK6 0 %FIS.F%0[J1# 1WDF% 0.G1 1D 0%gIF6%1D FD60WF FK G1D .0 F GF G %Fo
6% OFD 1%[0IF.6L% 0D

hh = %1 F% 1D KO%QI1D# Fl %FQ1D F 7S.[bFD G1D DF% [1D 0G| . D6%06 1D
GO gl0%0# WFI K111 K1.KFGF% KF.[0# 0 1DF.60G1% 0 F 0.60QF.D GF GOD 01D
DF% G1%FD# 1SK11KL IDFIGD 1. W GOGF

hh = F.KOI.YO% 01 1GF% VFKS6 1 0D D1 K 60[oFD GF K%EG 61D 0G K 10
.0D .FKFDDL% 1D 01 7S.K 1.0IF.61 GO gl0%0 F G1D DFSD DF% [1D

hh = FDBOWF FKF% 1D |6FD GF K11 F6].K 0 0%0 0D 0S61% OO[bFD GF
GFD FDOD

hh ' = 0S61% O0% 0DD .065%0 GF K1.]. 1D F GF K1.6%061D GF %FD60[J1 GF
DF% [1D

hh' = 0 %1 0% 1 1%[0IF.61 0.0 *6 K1 GO gl0%0

hh' = 0S61% 00% K 60[bFD# Y111 1Q0% DFSD %FDS 60G1D F 0 %1 0% 1 KO F.0
GL% 1 GF K1.60D

hh' = %FXS D 60% %F71%[1 1 KO

hh' = 0 %FDF.60% | gl0%0# .0 DFDDJL GF F.KF%%O0IF.61 G1 0.1
FQDO06 1# %FDF.YO GID 6%0WO YLD %FO O0G1D# %FKFG GO GF DSK .61 %F 06j% 1
D1W%F 1 DF6% GFDFI F.Y1

p 0= | KOD1GF I06E% 0 .0GLF# 1GF%L 1 %FD GF.6F 1S XSFI FD6 F%
DSWD6 6S .G1# GFK G %#i< <3F- GO FDO# DIW%F 0DDS61D GF K1l F6].K 0
GFD60

pHHE  FDO GFK G %L DFI %F 1% I0 1% 0 GF DFSD IFIW%1D

BF[J1
B

%6 Tt= ? %FDGF.6F E 1 %F %FDF.60.6F GO g%.00# XS0.G1 FO DF
%1.S.K 0# F 1 DS F% D1% G1D DFSD 6%0W0 Y1D F GO DSO 1%GFI# .1D 6F.S1D GFD60
FD1 S[J1

%6 UO= 1l F6F 01 %FD GF.6F GO gl0%0# 0 El GF 1S6%0D 06% WS [bFD
FD6 S 0GOD .FD6F FQ IF.61 .6F%.1# 1S GOD XSF GFK1%%F| GO .06S%FO0 GF DS0D
7S.[bFD F %F%%1Q06 0D

= 7S0.61 ID DFDDbFD GO gl0%0

0a 1.1KL OD F %FD G* 0D

Wa 910.6F% 0 1%GFI# 1GF.G1 D1 K 60% 071%][0 .FKFDDL% 0 0%0 FDDF 7 |

Ka K1.KFGF% 0 00 %0 01D 'F%F0G1%FD

Ga 0GF%6% 1 1%0G1% 1S 00%6F0.6F XS0.61 01 6FI 1 XSF G D bF# .J1

cc



%q

F%| 6 .G1 XSF S 6%0 ODDF 1 6FI 1 %FQ IF.60
Fa K1. G0% 1 1%0G1% 0 GFK 0%0%# XS0.G1 71% 1 KOD1# DF %L 70 0% 070 1% GO
%1 1D [J1 1S K1.6%0 F 0
*a .6F%%1l F% 1 1%0G1% XSF DF GFD 0% GO XSFD6J1# 7| 0% DIW%F 1 F.K G1
1S# FI XSO XSF% I1IF.61# .K1%%F% 0D .7%0[bFD GF XSF 6%0601 p 0G1 0%6 HfT#
0G F%6 .G1 1# F FI KOD1 GF .D D6].K O# %F6 %0% YF 0 00 %0
Qa 0S61% 00% 1 'F%F0G1% 0*0 0% GO W0.K0GO 1S DF.60G1
Ya GF6F%I .0% 1.J1 0 0.YOIF.61 GF G DKS%D1# 1S 0 0%6F# F 0 60XS Q%0
70 1S Q%0 0[J1
a K1. G0% 1 'F%F0G1% 0 %F6 %0% DF G1 %FK .61 1S G1 F.L% 1# XS0.G1
F9%6S%W0% 0 1%GFI
$a DSD F.GF% 1S F 0.60% 0DFDDJ1 XS0.G1 .FKFDDL% 1
Ca 0S61% 00% 0 SW KO[J1 GF .71%I0[bFD 1S G1KSIF.61D FI .6F %1 6F1%#
FI %FDS .1 1S 0 F.0D IFG 0.6F %F7F%].K 0.0 060
la .1IF0% 1IDDJ1 DFKO#1S G11 1EQ 1 GF *GF%FD
.a GFK G % 0D XSFD6bFD GF 1%GFI F 0D %FK 0I0[bFD
la 0.S.K0% 0 ?%GFI G1 0 F1.mIF%1 GF 'F%F0G1%FD %FDF.6FD FI
F.L%1
a 9DSWIF6F% 0 G DKSDDJL F 160[J1 0 DD1 GFD6 .0G0# WFI K111 FD60WF FKF%
1 1.61 GO XSFD6J1 XSF DF%L 1W$F61 GO 160[J1
Xa 0.S.K 0% 1 %FDS 60G1 GO 160[J1 F GFK 0%0% 0 %F$SG K 0 GOGF
+, %FD G % 0D %FS.bFD G1 1EQ 1 GF *GF%FD
Da GFD Q.0% 0?%GFI G1 0 GOD DFDDbFD
6a GF6F%I .0% 1 GFD6.1 01 FV FG F.6F G1
Sa 160 FI FDK%S6*. 1 DFK%F61
a GFDFI060% 0D 160[bFD FI KOD1 GF FI 06F# XSF% 0D OWF%60D XSF% 0D
DFK%F60D
Va 0 KO0% KF.DS%0 F%WO 0'F%F0G1%
= 750.61 gD %1 1D [bFD
0a %1KFGF% | G D6% WS [J1 GF 106E% 0D ID 11 DDbFD F%I0.F.6FD 1S
DFKOD
Wa GF7F% % 0 %F6 %0G0 GF %1 1D [J1 GO ?%GFI G1 0
Ka GFD OKY0% %FXSF% IF.61
Ga GF6F%I.0% 1 DFS 0%XS OIF.61 1S GFD0%XS 0.F.61# .1D 6F%I1D
%FQ IF.60 D
Fa GF1 F%010S61% 0 %1 1D [J1 XSF .K1%%0 .1 G D 1D61 .1 p O)G1 0%
CCC# GFD6F FQ IF.61
= 750.61 ID 11 DDbFD
0a FD Q.0% DFSD IFIW%1D 6 6S 0%FD F DS F.6FD# IFG 0.6F K1IS. KO[J1
G1D *GF%FD
Wa GFK 0%0% F%GO GF SQ0%# 1% I16 1 GF 7060
Ka ODDFQS%0% 1D IF 1D F K1.G [bFD .FKFDDL% 1D01 F.1 7S.K 1.0IF.61 GF
0%FKF% F .11F0% %F 061% FI F.L% 1

CH



Ga K1. G0% 1 F 061% 1S 1S6%1 IFIW%1 GO 1l DDJ1# 0%0 FDK 0%FK IF.0
61 GF 0%FKF%

Fa K1.1K0% 0D 1IDDbFD F%I0.F.6FD 0%0 FF[J1 G1D %F,FK% 1D
%FD GF.6FD F BFK%F6L% 1D# .1D 6F%I1D G1 0%6 Q1 H4 .DFSL 0%LQ%071D

7a $S Q0% %FKS%D1 K1.6%0 GFK DJ1 GF %FD GF.6F GF 11 DDJ1 FI XSFD6J1 GF
1%GFI

X' = 7S0.61 | FDO

0a %FD G % DSOD %FS. bFD

Wa 6110% 0%6F 0D G DKSDDbFD F GF WF%0[bFD K1l G %F 61 0 161D

Ka G D6% WS % 0 106E% 0 XSF GF F.GF GF 0%FKF%

Ga FVFKS60 0D DSOD GFK DbFD# XS0.G1 60 .KSIW].K 0.J1 DF$006% WS*G
1S6%1 IFIW%1

"= 750.61 D SW KO[bFD FIG S QO[J1

0a F6F%I .0% SW KO[J1 GOD I06E% OD %F7F%F.6FD | gl0%0

Wa J1 F%I 6% 0 SW KO[J1 GF %1.S.KOIF.61 1S FV %FDDbFD
06F.606j% 0D G1 GFK1%1 0% OIF.60%

Ka G S Q0% 0D GFK DbFD G1 F.L% 1# GOD %FS. bFD GO FDO# G1 1 EQ 1 GF
*GF%FD# GOD 11 DDbFD F G1D %FD GF.6FD GOD 11 DDbFD

' = 7S0.61 | DSO K1l F6].K 0 QF%0 # GF.6%F 1S6%0D

0a 0% 1DDF 01D 'F%F0G1%FD# .0 K1.71%I| GOGF G1 0%&VGFD6F FQ IF.61
6F%.1

Wa K1.KFGF% KF.[00'F%F0G1%

Ka GFK 0%0% 0 0Kg.K 0G1 10.G061 .1D KOD1D GF 70 FK IF.61 1S %F.m.K 0
GF 'F%F0G1%

Ga OF 0% F1 %FD6*Q 1 F GFK1%1 GO glo%0# WFI K111 FOG Q. GOGF F
%FD F 61> %F%%1Q06 0D K1.D6 6SK 1.0 D GF DFSD IFIW%1D# FI 61G1 6F%% 6% 1
0K 1.0

Fa G % Q % K1l DS %FI0 0S61% GOGF# 0 1 *6 KO GO gl0%0

7a K1.1K0% F %FS. %# F% 1G KOIF.6F# D1WF DSO %FD G].K 0# 1D *GF%FD F
1D %FD GF.6FD GOD 1/ DDbFD F%I0.F.6FD 0%000 0[J1 G1D 6%0WO0 Y1D GO ODO#
FVOIF GOD I06E% OD FI 6%gl 6F F0G1[J1 GOD %1 G].K 0D$S QOGOD .FKFDDL% 0D 01
W1l 0.GOIF.61 GOD06 GOGFD FQ D 06 OD F 0GI . D6%06 0D

Qa F.KOI.Y0% 01D j%QJ1D 1S F.6 GOGFD %F7F% GOD .1 0%6 HR 0D K1.K SDbFD
GF 11DDJ1 0% OIF.60% GF .XSE% 61

Ya 0S61% O0%# 1% D 1S IFG 0.6F GF FQO[J1# 0 %F0 OO0[J1 GF K1.7F%].K OD#
FV 1D [bFD# 0 FD6%0D 1S DFI .L% 1D .1 %FK .61 GO glo%0 F7 V0% YF GO60# 1KO F
Y1%L% 1# %FDDO 0G0 0 K1l F6].K 0 GOD 11 DDbFD

a %1IS Q0% OD %FD1 S[bFD F GFK%F61D FQ D 06 1D GO gl0%0 F 0DD .0% 1D
061D GO FDO

$a ODD .0% K1%%FD 1.G].K 0D ID 0S61% GOGFD

= 7S0.61 1 GI . D6%0[J1 GO gl0%0
0a FK G % %FKS%DI1D K1.6%0061 G1 %F61%
Wa .6F% %F60% F 700F% 1WDF% 0% 1 1%GF.0IF.61$S%*G K1 GF FDDy0 F G



DF% [1D 0GI . D6%06 1D GO gl0%0

' = 11 F6F# 0.G0# 01 %FD GF.6F GO gl0%0

O0a F %FDF.60% 0 gl0%0 FI$S*O1 F71%0 GF F

Wa G % Q %# FVFKS60% F G DK .0% 1D 6%0WO0 Y1D FQ D 06 1D F 0GI . D6%06 1D
GO gl0%0# *00F.G1 0 %0% 1D 061D F%6 .F.6FD | L%FO0 GF QFD6J1

Ka .6F% %F60% F700F% KSI % % 1 FQ IF.61 .6FI1

Ga %11S Q0% OD FD K1l DO.[J1 6LK60 1S 0OXSF 0D KS$1 F61 6F.Y0 D G1
%F$F 60G1 F1 F.L% 1 F.J1Y0$0I DGl %1IS QOGOD F1 %F7F 61

Fa 700F% SW KO0% 1D 061D GO FDO# 0D %FD1 S[bFD# GFK%F61D FQ D 06 1D F 0D
FD 1% FF %1IS QOGOD

7a 0S61% O0% 0D GFD FDOD GO gl0%0

Qa D1 K60%# 1% GFKDJ1 GO 0 1% 0 WD1 S60 GO gl0%00 .6F% F.[J1 .1
S. K* 1.1D KOD1D 0GI 6 G1D FOD 1.D6 6S [bFD \FGF%0 F D60GSO

a F.KOI.Y0%# 0%0 0%FKF% %E 1#0 %FD60[J1 GF K1.60DG1 S.K* 1F

GO FDO %F61%0 GO gl0%0# 01 % WS.0 GF 1.60D G1 D60G1# O6E 1 G 0 Mf GF

0W%
a GFK 0%0% FV6 .61 110.G061 G1 %F7F 61# K1'KF %F7F 61 F G1D 'F%F0G1lo

%FD# .1D KOD1D %F D61D .0 F

$a O0%FDF.60% 01 F.L% 1# O6E 1 GO Hf ° .6Fa GF KOGO IID 1 W0 0.[1
%F 06 1 01D %FKS%D1D %FKFW G1D F ID GFD FDOD %F0 O0GOD .1 I]D 0.6F% 1%

Ca %FXS D 60% 1 .SIF%L% 1 GFD6 .0G1 ID GFD FDOD GO gl0%0

la FVF%KF%# FI DSWD6 6S [J1# 0 KYF70 G1 VFKS6 1 S.K 0 .1D KOD1D
%F D61D FI F

.a GFDQ.0% 11DDbFD DFKOD .1D 6F I1D %FQ IF.60 D 1WDF% 0GOD 0D

.G KO[bFD 0%6 GL% 0D
la 10.G0% %FD60% .71%I0[bFD 1% FDK% 61 F FV FG % KF%6 GbFD %FXSF% GOD

000GF7FDO GF K F 61 F FDK0%FK IF.61 GF D 6SO[bFD

a %F0 00% 0SG].K 0D mw KOD
p 7= 0%0 6110% 0%6F F.% XS0 XSF% G DKSDDJ1# 1 %FD GF.6F 6%0.DI 6 %L 0

%FD G].K 0 0DFS DSWD6 6S61# F .J1 0 %FODDSI %L F.XS0.61 DF GFWO06F% 0 106E% 0 0

XSF DF %1 bF G DKS6 %
p HF= ? %FD GF.6F 1GF%L# FI XSO0 XSF% I1IF.61# GF DSO KOGF %0# 700F%

01 F.L% 1 K1IS. KO[bFD GF .6F%FDDF GO gl0%0 1SG1 S.K* 1
p MO= ? %FD GF.6F 1GF%L GF FQ0% 01 OBFK%F6L% 1 1S# .0 0SD].K 0 GFD6F#

0 XSFI GF G %F 61# K1l F6].K 0 XSF YF DF$0 %;j % 0
$0/ n

% Cf= BJ1 06% WS [bFD G1 % IF %1 BFK%F6L% 1# 0 El GF 1S6%0D XSF

F%F1 0 DF% FD6 6S*GOD
= FG Q % 0D 060D GOD DFDDbFD DFK%F60D F GOD %FS. bFD GO FDO
= OK11 0.Y0% F DS F% D 1.0% 0 %FGO[J1 GOD 060D GOD GFI0 D DFDDbFD F

%1KFGF% g DSO F 6S%0

CN



GvC= 700F% 0 KYOIOGO G1D F%FO0G1%FD
"= %FQ D6%0%# FI %1 %j% 1# 1D %FKFGF.6FD 7 %l0G1D .0 0 KO[J1

GFD6F FQ IF.61 .6F%.1
'=700F% 0 .DK% [J1 G1D 1%0G1%FD .0 0S60 G1D 6%0WO0 Y1D

' = OF 0% F1D0.0DGF %1D GO gl0%0

" = %FKFWF% K1. 6F# %F %FDF.60[bFD# F6 [bFD F IFI1% 0D G % Q G1D |
g10%0

* = %FKFWF% F 0OF% 0 K1%%FD 1.G].K 0 17 K0 GO gl0%0# FVKF61 0 GOD
11 DDbFD

h = DSWD6 6S % 1 %FD GF.6F GO gl0%0 FI DSOD 7F 60D# 0SD].K 0D# | FG o
IF.61D 1S KF.[0D

h = %1IS Q0% K 0OF% SW K0%# 1W% QO061% OIF.6F# OD %FD1 S[bFD F 1D
GFK%F61D FQ D 06 1D# DF%. %F XSF 1 %FD GF.6F# 0.G0 XSF DF OKYF FI FVF%K*K 1#
GF VF GF 700] 1.1 %001 FD60WF FK G1

h = %1IS Q0% F 700F% SW KO0% 1W% QO061% OIF.6F# 0D FD# XS0.G1 1
%F7F 61 F 1 %FD GF.6F GO gl0%0# DSKFDD OIF.6F# 6F.YOl GF VOG1 GF 700] 1#
DIW F.0 GF F%GO0G1 10.G061 GF FIW%1 GO FDO

p 0= GO K1l F6].K0 G1 BFQS.G1 BFK%F6L% 1# 0 El GF 1S6%0D 06% WS 0
[bFD XSF YF 71%FI K1.7F% GOD# DSWD66S % 1 % IF %1 BFK%F6L% 1 F# .0 0SD].K 0
GF F# 1 %FD GF.6F XS0.G1 .FKFDDL% 1

p HO= 7D BFK%F6L% 1D Dj 1GF%J1 SD0% GO 00%0 01 .6FQ%0%FI 0 FDO
GS%0.6F 0 DFDDJ1# 0%0 0 KY0I0% 0 G1D 'F%FOG1%FD# K1.60QFI G1D 161D 1S F 65%0
GF G1KSIF.61D 1%GF.0G0 F1 %FD GF.6F#

p MO= 00SD].K 0 GF BFK%F6L% 1D# 1 %FD GF.6F K1. GO%L XS0 XSF% 'F%F00
G1% 0%0 DSWD6 6S [J1#

$%& "
| # *

% CC=7?7D FIW%1D GO FDO 1GFI DF% GFD6 6S*G1D# F 1 161 GF H3M
"G1D 6F%[1Da G1D IFIW%1D GO gl0%0# XS0.G1 7F 61D1D# 11DD1D 1S .F7 KF.6 FD
.1 GFDFI F.Y1 GF DSOD 06% WS [bFD %FQ IF.60 D# F FQF.G1 DF 1S6%1 'F%F0G1%

0%00 K1l FIF.60[J1 G1 10.G061
p 0= 0%0 F7F 61 G1 GD1D61 .1 ):-G GFD6F 0%6 Q1# 0 0%6F .6F%FDD0OGO

0 %FDF.60%L 01 %FD GF.6F GO gl0%0# 1% FDK% 61# GF.m.K 0 GF 7F 60# 11 DDJ1 1S
.F7K].KO# K1l FV1D[J1 GF 116 1D F 7F61D F .G KO[J1 GOD %10D XSF
%F6F.G0 K1.D6 6S %

p HH= r GF.m.K 0 GF XSF 6%060 1 0%LQ%071 HGFD6F 0%6 Q1 GF F%L DF%
DSWDK% 60 1%# F 1 IF.1D# S| 'F%F0G1% GO 0DO

p M7= ?'F®WFO0G1% GF.S.K0.6F 7 KO%L | FG G1 GF .6FQ%0% 0 11 DDJ1
.KSIW GO0 GF 0S%0% 0 GF.mKO0# 1GF.G1# 61G0 0# %06 K0O% 61G1D 1D 061D
.F%F.6FD | OKSDO[J1

p NO= BF.G1 GF.S.K0.6F 1S GF.S.K0G1 1 %FD GF.6F GO gl0%0# FD6F
0DDO%L 0 %FD G].K0 01 DFS DSWD6 6S61 FQO# .0D %FS. bFD F 061D .F%F.6FD |

CP



$$ 0~ 50

GF.m.K 0 K1.6%0 F F 0 S%0G0

p PO= FKFW GO0 0 GF.m.K0# 1 %FD GF.6F GO gl0%0# .0 % IF %0# DFDDJ1
DFQS .6F# GF6F%I .0%L DSO F 6S%0 F K1.DS 60%L 0 gl0%0 D1W%F 1 DFi %FKFW IF.o
61 1S .J1

pN = %10G1l 1 %FKFW IF.61 GO GF.m.K0O F1 161 GO 101% 0 G1D
%FDF.6FD# .0 IFDIO DFDDJ1 DF%J1 D1%6F0G1D 1D .1IFD GF 6%]D 'F%FO0G1%FD 0%0 O
K1.D6 6S [J1 GO 11 DDJ1 0% OIF.60% GF .XSE% 61# XSF 0 S%0%L0 GF.m.K 0

p 20= 1 D1%6F 1 DF%J1 FVK S*G1D 1D 'F%F0G1%FD | FG G1D F# .0 IFDIO
DFDDJ1# 1D 'F%FOG1%FD D1%6F0G1D F FQF%J1# F.6%F D# 1 %FD GF.6F F1 F 061% GO
11 DDJ1

p TH= ? 'F%F0G1% GF.S.K0.6F 1S GF.S.K0G1 .J1 6F%L G %F 61 0 161 F
.FI 0%6 K 0%L GO 11 DDJ1 %1KFDDO0.6F

p UF= 0%00 160[J1 GO0 E% 0 GF XSF 6%060 FD6F 0%6 Q1# DF%L K1. 1K0OG1 1
BS F.6F G1 'F%FO0G1% | FG G1# YF DF.G1 FGOG1# 60IWEI 0%6 K 0% GO 1o

IDDJ1 %1KFDDO.6F #
%6 CH= 1.D66S*G0 0 11DDJ1 0% OIF.60% GF .XSE% 61# .0 IFDIO
DFDDJ1 GF XSF DF %F1KS Ol 1D pp PO eSDXSF8 20¢ 1 %FD GF.6F GO 11DDJ1 C

%FKFWF%L 0 GF.m.K0 F# .1 %001 GF 06E fP 'K .K1a GOD# 0 K1.60 G1 DFS %FKFW o
IF.61# .16 7 KO%L 1 GF.S.K0G1 0%0# .1 %001 GF 06E fT "1 61a G 0D K1%% G1D# DF
YF 0%1S F%# 0 %FDF.60%# 1% FDK% 61# GF7FDO %E 0 F .G K0O% 0D %10D XSF
%F6F.GF% %1GSO % 1GF.G1# .FDDO1 1%6S. GOGF# 0%%1 0% 06E fR "DF Da 6FD6FISo
.YOD

p 0= D60.G1 1 GF.S.K0G1 0SDF.6F G1 S.K* 1# 0.16 7 KO[J1 GF XSF
6%060 1)/-( GFD6F 0%6 Q1 70%DFL 1% G60# SW KOG1l GSOD FOFD# Fl j%QJ1
17KO0# K1l .6F% 01 GF# F1 IF.1D# fM 6%]Da GOD K1.60.G1 1 %001 GO
% IF %0 SW KO[J1

p HO= FK1%% G1 1 %001 0%0 00 %FDF.60[J1 GO GF7FDO %E 0# DFI XSF 1
GF.S.K0G1 0 0 %FDF.6F# K1.%F L 1 %1KFDD1 g DSO %F F 0# YF DF.G1 .1IF0G1
GF7F.D1% GO06 1

p MO= V %0G1 1 %001 0%0 0 GF7FDO# 0 11 DDJ1 %1KFDDO.6F .1 %001
GF O6E fP 'K .Kla GOD# FI6%L 0%FKF% 1 .0.G1 F1 %1DDFQSIF.61 1S
0%XS O0IF.61 GO GF.m.K0

p NO= BF 0 11DDJ1 1 .0% F 1 0%XS OIF.61 GO GF.m.K 0# DF%L 1 DFS
0%FKF% DSWIF6 G110 %FK 0[J1 F.L% O F GF VO%L GF %F 0 FKF% F 0 160[J1 GO
10 1% 0 F.6%F 1D %FDF.6FD# 0 KO0.G1DF 1 G D 1D61.1D 0%LQ%071D DFQS .6FD

p PU= BF O 11IDDJ1 1 .0% F1 %1DDFQSIF.61 GO GF.m.K0# 1 DFS
%FD GF.6F GFD Q.0%L# GFDGF 1Q1# 1 .*K 1 GO .D6%S[J1# GF6F%I! .0.G1 061D F
G Q].K 0D# DF K1. F%FI FODD .00.G1 G060 F Y1%0 0%0 6110G0 GF GF 1 IF.61
G1 GF.S.K0G1 F 160 0 GOD 6FD6FIS.YOD 0%%1 0GOD

p RO= D 6FD6FIS.YOD 0%%1 0GOD FOD 0%6FD GF F%J1 K11 0%FKF% |I0SG o
].K O GFD Q.0G0 0%0 DSO .XS % [J1# .GF F.GF.6FIF.6F GF .610[J1# %FDSo
|.G1 DF# KOD1 .J1 K1l 0%F[0# XSF 0 0%6F 0D 0%%1 1SGFDD6 SGF 1S 0

p2t= ? GF.S.K0G1 GF F%L DF% .6 10G1 GF 61G1D 1D 061D G1 %1KFDD1#

CR



FDD10IF.6F 1S .0 FDD10 GF DFS %1KS%0G1%# K1l 0.6FKFG].K0 GF# F1
IF.ID# HN ° .6F F XS06%1a Y1%0DF.G1 YF F%| 6 G1 ODDD6% ID 0SG ].K OD F
G Q].KOD# ODDI K1l1 .XS % % F K1.6%0G 60%# 06%0 ED G1 %FD GF.6F GO 1I Do
DJ1# OD 6FD6FIS.YOD F %FXSF%F% 1 XSF 71% GF .6F%FDDF GO GF7FDO

pT = ?D 061D %F7F% G1D .0 0%6F *.0 G1 0%LQ%071 GFD6F 0%6 Q1 DF%J1
%06 KOGID F1 %I1KS%0G1% K1.D6 6S*G1 G1 GF.S.K 0G1# 1S 1% FD6F# XS0.G1
J1 K1.D6 6S % GF7F.D1% F %F7F% % 700F% DSO %j % 0 GF7FDO#

pU = 1.KS*GO#0 .D6%S[J1# DF%L OWF%60 D60D G1D 0S61D# DSKFDD OIF.6F#
1% %zD GOD# 0 0 0D0 FQO[bFD7.0D

= 1 GF.S.KO0.6F

= 01 GF7F.D1% G1 GF.S.K 0G1 1S 0 FD6F

p Cf= | DFQSGO# 0 1IDDJ1 %1KFDDO.6F FI 6 %L 0%FKF% *.0 FO
%1KFG].K 0 1S | %SG].K 0 GO GF.m.K 0# FV FG .G1 1 K1I F6F.6F %1$F61 GF
FD1S[J1 F F.KOI.YO0.G1 1# $S.60IF.6F# K1l 1 %1KFDD1 F DFS 0%FKF%# |
FDO# XSF K1. 1KO%L#0 gl0%0 0%0 0DFDDJ1 GF$S QOIF.61

CM = 0 DFDDJL GF$S QOIF.61# 1 %1KFDD1 DF%L G1# .6FQ%O0 IF.6F#

F1 UBFK%F6L% 1 1S 1% SI DF% G1% GO gl0%0 1S 'F%F0G1% .G KOG1 F1
%FD GF.6F 0%0 FDDF 7 |

p 0= %1KFG GO O F6S%0 G1 %1KFDD1# 1D 'F%F0G1%FD XSF 1 GFDF$0%FI
10. 7FD60% DK J1# F%WO IF.6F# D1W%F 1 0DDS.61 FI$S QOIF.61 F1 %001 GF CP
'XS .OFa |.S61D# KOGO Si# KS$0 70KS GOGF D1IF.6F# DF%L F%I 6 GO#/I0 FO 0
KOGO 'F%F0G1%

p H= | DFQS GO# 1 GF.S.K 0G1 1S DFS %1KS%0G1% 6F%L 1 %001 GF 0 EfH
"GSODa Y1%0D 0%0 %111 F% DSO GF7FDO 1%0

p MO= 1.KS*GO 0 GF7FDO 1%0 G1 GF.S.K0G1# %1KFGF% DFL 0 60.60D
160[bFD XS0.60D 71%FI 0D | S60[bFD GO F[0 .0SQS%0 “GF.m.K 0a

p N9 = 1.D GF%0% DF L 070D60G1# GF7 . 6 OIF.6F# G1 K0O%Q1 1 GF.S.K 0G1
XSF 71% GFK 0%0G1# F1 161 GF H3M "G1 D 6F%[1Da# F 1 IF.1D# G1D FIW%1D GO
gl0%0# .KS%D1 FI XS0 DXSF% GOD .7%0[bFD 0 1.60GO0D .0 GF.m.K 0

pPO= 1.K S*GO O 160[J1# 1 %FD GF.6F GO gl0%0 70%L 0 %0% 0 060# 0%0
%1K 010%# IFG 060IF.6F# 1 %FDS 60G1# GF6F%I .0.G1 0 K1.D Q.0[J1 .FO GO
160[J1 .11.0 GF GF.m.KO0# FDFK 7 KO.G1# 6Fl 1% 6FI# 1 1W$F6 1 GO
160[J1

p RO= 61 K1.6~S1# 1 %FD GF.6F GO glo%0 FV FG %0 0 K1l F6F.6F
FD1 S[J1 GF GFD6 S[J1 G1 'F%F0G1% GF.S.K 0G1# GO FDO GO gl0%0

p 20= BF.G1 0 GF.m.K0 $S Q0G0 | %1KFGF.6F F1 161 GF H3M ‘G1D
6F%[1Da G1D FIW%1D GO gl0%0# 1 %FD GF.6F GFD60 GF6F%I .0%L 1 0%XS OIF.0
61 G1 %1KFDD1

p TO= ? %1KFDD1 0 XSF DF %F7F%F FD6F 0%6 Q1 GF F%L FD60% K1.K S*G1 .1
%001 GF 06E Uf .1 F.60a G OD# 0 K1.60% GO G060 FI XSF DF F7F6 0% 0 .16 7 KO[J1
G1 0KSDOG1

pUO= V %0G11 %001 0DD.00G1 .1 0%LQ%071 TUGFD6F 0%6 Q1# DFI XSF 0
11DDJ1 Y*0 FI6G1 1 DFS 0%FKF% 7.0# 0jD .D6%S[J1# 1 %1KFDD1 DF%L



0%XS 0G1 1% FVKFDD1 GF %001# DFI %F$S*O1 GF .10 GF.m.K0# 0.G0 XSF
D1W%F 1D IFDI1D 7061D

$96&

% CN= ?D'F%FO0G1%FD DF%J1 0Q%S 0G1D .0D DSOD %F %FDF.60[bFD 0%6 GLo
%0D 1S FI W 1K1D 0% OIF.60%FD
p

0= 0%07.D 0% OIF.60%FD# 1D 'F%FO0G1%FD K1IS. K0%J1 | FDO 1 DFS
GFD QOIF.61 GO F %FDF.60[J1 0%6 GL% 0 F 0 XS0 71%0I F F 61D# DFI %F XSF
F%Fl .6FQ%0 ; 1S6%0 %F %FDF.60[J1 1S> 1K1 0% OIF.60

p HO=

71%I0[J1 GF > 1K1 0% OIF.60 1K1%%F%L XS0.G1 SI Q%S 1 GF
'F%FOG1%FD QSO 1SDS F% 1% 0fH "G1 Da G1D K1l 1.F.6FD GO gl0%0 K1IS. o

K0%FI | FDO 0 DSO K1.D6 6S [J1# K1l 1 %FD FK6 1 .1IF F 0 .G KO[J1 GF DFS
*GF%

p MO= ? GFD QOIF.61 GO F %FDF.60[J1 0%6 GL% 0 0%0 .6FQ%0% W 1K1
0% OIF.60 .J1 |

KO0 .1 GFD QOIF.61 G1 0%6 G1# I0D %FGSO 0 W0.KOGO GF
1% QFI 0%07 .D GF 160[J1 F %F %FDF.60[J1

$%&

% CP=

101% 0 E .6FQ%O0GO F1W 1K1 0% OIF.60% 1S %F %FDF.60[J1
0%6 GL% 0 XSF DF K1.D6 6S G010 1% 0 OWD1 S60 G1D 'F%FO0G1%FD
p 0= \1%I0GO 0 01% 0# 0

.1% 0 DF%L OXSF 0 .6FQ%0GO F 1 > 1K1
0% OIF.60% 1S %F %FDF.60[J1 0%6 GL% 0 XSF DF YF 1 SDF%
$9&

6 CR = ?D 0%6 G1D K1l %F %FDF.60[J1 .0 gl0%0 F 1D W 1K1D
0% OIF.6F%FD K1.D6 6S*G1D FDK1 YF%J1# FO0 10 1% O GF DFSD IFIW%1D# 1D DFSD
*GF%FD %FD FK6 1D
p H= .G KO[J1G1D *GF%FD G0% DF L# GF 1%G .L% 1#.1 .*K 1 GO FQ D 06S%0
*K1 Gl 6F%KF %1 0.1 FQDO06 1 F FV6%01%G .0% OIF.6F# DFI %F XSF 0DD |
1GFKG %010 1% 0 GO %F %FDF.60[J1 0%6 GL% 0 1SG1 W 1K1 0% O0IF.60%
p H1=

.G KO[J1 GF XSF 6%060 1 0%LQ%071 0.6F% 1% DF%L 7F 60 FI G1KSo
IF.61 DSWDK% 61 F 1D IFIW%1D GOD %F %FDF.60[bFD 10$1% 6L% OD# | .1% 6L% OD#

F.1

CT



W 1K1D 0% OIF.60%FD# 0%6 G1D 1 *6 K1D | KDO# .0D 2H 'DF6F.60 F GSODa Y1%0D
DSWDFXSF.6FD | .D60 0[J1 GF KOGO F%*1G1 FQD 06 11%G .L% 1

p MO= ?D *GF%FD .G K0%J1 %FD FK6 1D 'KF *GF%FD# G0.G1 K1.YFK o
IF.61 1 FDO GO gl0VO GFDDO GFD Q.0[J1

p N7 = EI GF 1S6%0D 06% WS [bFD %F D60D .FD6F FQ IF.61 .6F%.1# 1D
*GF%FD .G K0%J1 %F %FDF.60.6FD 0%6 GL% 1D .0D 11 DDbFD GO gl0%0

p PO= SDF.6F 1S | FG G1 1 *GF%# DSOD 06% WS [bFD DF%J1 FVF%K GOD F 1
"KF *GF%

p RO= ? *GF% G1 %F7F 61 DF%L .G KOGl 1% 17*K1 G1 YF7F G1 1GF%
VFKS6 1 01 %FD GF.6F GO gl0%0

/ & "

%6 C2= ?D *GF%FD GO 01% 0# GO .1% 0# G1D 0%6 G1D# G1D > 1K1D
0% OIF.60%FD F G1 %F7F 61 K1.D66SFI1 1 EQ 1 GF *GF%FD

p 0=7? *GF% G1 %F7F 61 6F%L G %F 61 0 10# 10D .J1 0 161

p HO= BFI %F XSF 1DD*F# 0D GF WF%O0[bFD G1 1EQ 1 GF *GF%FD DF%J1
6110% OD IFG 0.6F K1.DF.D1 F.6%F DFI .6FQ%0.6FD XS0.G1 D61 .J171% 1DD*F #
%F 0 FKF%L 1 K% 6E% 1 GO 10 1% 0 OWD1 S60# 1.GF%0G1061D G1D *GF%FD FI
7S.[31 GO FV %FDDJ1 .SIE% KO GF KOGO W0.KOGO

%6 CT= %1KS%0G1% 0 0% OIF.60% 6F%L 1% 7 .0 GOGF %111 F%# FI
K1 0W1%0[J1 K11 0 FDO# 0 GF7FDO GO gl0%0 GF DFSD j%QJ1D F IFIW%1D XS0.G1
06 .Q G1D FI DO Y1.%0# 1S 10QFI F%0.6F 0 D1K FGOGF Fl %00J1 G1 FVF%K*K 1
G110.G061 1S GF DSOD 7S.[bFD .D6 6SK 1.0 D

p 0= %1KS%0G1% 0 0% OIF.60% DF%L K1.D6 6S5*G0# 1% 6%FD IFIW%1D
GFD Q.0G1D F1 %FD GF.6F GO gl0%0# 0 KOGO G1D 0.1D# .1 .*K 1 GO DFDDJ1
FQ D 06 0# K1l 1WDF% g.K0 60.61 XS0.61 1DD*F G1 % .K* 1 GO
%1 1%K 1.0 GOGF 0%6 GL% 0

p HO= %1KS%0G1% 0 0% OIF.60% %1 GF.K0%L 0l 0 SW K GOGF
%F 0%0G1 0# O EI GO G SQO[J1 0 XSF FD6 F% DS$F 61# 1% 71%[0 GF F 1S GF
GFKDJ1$SGKO# 1 j9%QJ1 GF K1IS. KO[J1 1S | %F.DO XSF FKS 0% 0 106E% O
17F.D 01 ODO1S O0DFSD IFIW%1D

pMO= %1KS%0G1% 0 0% OIF.60% %111 F%L# 1% .6F%IEG 1 G1 .Do
6E% 1 mW K1 1S GF 10.G06L% 1 0G 1K06*K 1# OD IFG GOD$SG K 0 D F FV6%0$SG K 0 D
KOW* F D 0%0 1W6F% 0l 0 %F 0%0[J1# .K SD F OXSF 0 XSF DF %F7F%F 1 .K D1 h G1
0%6 POGO 1.D6 6S [J1 GO F mW KO

Cu



$96&

%6 CU= ¢l0%0 S.K 0 6F%L K11 DDbFD F%I0.F.6FD F 6FI 1%L% OD#
K1.D6 6S*GOD .0 71%I0 F K1l 06% WS [bFD GF7 . GOD .FD6F FQ IF.61 .6F%.1 1S
.1 061 GF XSF %FDS 60% DS0 K% 0[J1

0%LQ%071 |.K1 = 0 1.D66S[J1 GOD 1l DDbFD ODDFQS%0% DF L# 60.61
XS0.61 1DD* F # 0 %F %FDF.60[J1 %1 1%K 1.0 G1D 0%6 G1D F> 1K1D 0% OIF.600
%FD XSF 0%6 K FI GO 0D0# .K'S .G1 DF DFI %F SI IFIW%1 GO .1% 0# 0 .GO
XSF FO %1 1%K 1.0 GOGF .J1 YF KO W0 SQ0%

$%&

%6 Hf= 11 DDbFD F%I0.F.6FD DJ1 0D GF KO%L6F% 6EK. K1 FQ D06 1 1S
FD FK 0 00G1 .6FQ%0 IF.6F GO FD6%S6S%0 .D66SK 1.0 GO 0D0# K1 0%6*K FD F
0QF.6FD G1 %1KFDD1 FQ 7F%0% 6F# XSF 6FI 1% 7.0 GOGF 0 %FK 0 1D 0DDS.61D 1S
%1 1D [bFD DSWIF6 G1D 01 DFS FVOIF F DIW%F F FD GF WF%0%# 0DD | K111 FVF%0
KF9% 1 0K1l 0.YOIF.61 G1D 0.1D F %1Q%010D Q1 F%.0IF.60 D F 07 DKO OO0[J1
1%[0IF.6L% 0 G1 S. K* 1# .1 gIW 61 G1D %FD FK6 1D KOI 1D 6FIL6 K1D F L%FOD
GF 06S0[J1
p 0= D 1IDDbFD F%I0.F.6FD# FI %00J1 GO I06E% 0 GF DSO K1l F6].0
KO# FIDGFIOD 11 DDbFD# .1 XSF YFD 71% 0 KL F # KOWF
= DKS6% F 160% 0D %1 1D [bFD XSF YFD 71%F| 06% WS*GOD DS$F 60D |
GF WF%0[J1 G1 F.L%1
= %F0 00% 0SG ].K 0D mW KOD K1l F.6 GOGFD GO D1K FGOGF K
= K1.1KO # 1% GFK DJ1 GO 10 1% 0 GF DFSD IFIW%1D# %F7F 61# BFK%F6L0
% 1D S.K 0 D# %FD GF.6FD GF \S.GO[bFD# S60%XS 0D# %F61%FD F 1KS 0.6FD GF
K0%Q1D GF KYF70# 0%0 %FD60 .71%I0[bFD D1W%F ODDS.61D .F%F.6FD ID DSOD
06% WS [bFD
" = %FKFWF% F6 [0FD# %FK 0I0[bFD# %F %FDF.60[bFD 1S XSF VOD GF XS0 0
XSF% FDD10 K1.6%0 061D 1S 11 DDbFD GOD 0S61% GOGFD 1S F.6 GOGFD SW KOD
' = F.KOI.YO%# 06%0ED GO FDO# FG G1D FDK%61D GF .71%I0[J1 O
BFK%F6L% 1 S.K 0
' = D1 K60% GF 1 IF.61 GF XS0 XSF% 0S61% GOGF 1S K G0GJ1
' = OK110.YO% F 0 %FK 0% %1Q%0I0D GF 1W%0D# 0.1D IS. K 0 D# F
DF61% 0 D GF GFDF. 1 IF.61 F DIW%F F FD FI 6 % 0%FKF%
' = FVF%KF% 1 OK1l 0.YOIF.61 F 0 7 DKO OO[J1 K1.6LW # 7 .0.KF %0#
1%[0IF.6L% 0# 1 F%0K 1.0 F 06%11.0 G1 S.K* 1 F GOD F.6 GOGFD G0 0Gl o
.D6%O0[J1 G %F60 F .G %F60# .KS*GOD OD 7S.GO[bFD F D1K FGOGFD .D66S*GOD F

Hf



106GOD F1 1GF% mW K1 S.K 0

lh = FVF%KF% 07 DKO O0[J1# .1 gIlW 61 GF DSO K1I F6].K 0# G1D 061D G1
1GF% VFKS6 1 F GO 0GI . D6%0[J1 .G %F60

h = %11% 0 DSD60[J1 G1D 061D .1%106 1D G1 1GF% VFKS6 1 XSF
FV1%W 6FI G1 1GF% %FQS 0IF.60% 1S G1D | 6FD GF GF FQO[J1 FQ D 06 0# F OW1o
%0.G1 1 %FD FK6 1 GFK%F61 FQDO06 1

h = OK1I0.YO%#$S.61 01 %F7F 61 S.K O0# 0F OW1%0[J1 GO %1 1D60
1%][O0IF.6L% 0# WFI K111 0 DSO 1D6F% 1% FVFKS[J1

h = FD6SG0% XS0 XSF% 0DDS.61 K1l %FF.G G1 .1 %FD FK6 1 K0%Q1 6FIL6 K1
1S L%FO GF 06 GOGF# 1GF.G1 %1I1 F%# FI DFS glW 61# K1.7F%].K OD# FV 1D o
[bFD# 0 FD6%0D 1S DFI .L% 1D

h ~ = D1 K60% 0SG].KO 1S K10W1%0[J1 GF j%QJ1 1S F.6 GOGFD GO
0GI . D6%0[J1 mW KO G %F60# .G %F601S7S.GOK 1.0# F GO D1K FGOGF K # 0%0
F SK GO[J1 GF I06E% 0 DS$F 60 0 DFS %1.S.KOIF.61# .J1 | KO.G10G Q].o0
KOG 060[J1 G1D %001D

p 0= KOIDF | 6%01 60[J1 G1D %1$F61D GF F DSWIF6 G1D | GF WF%00
[J1 K1.K SD 0 GOD 1| DDbFD# .1 XSF K1SWF%# 0D G D 1D [bFD %F 06 0D 0 6S%.1D#
%001D# FIF.GOD F GFIO D 71%I0 GOGFD F % 61D FV Q G1D 0%0 0D I06E% 0D DS$F 60L
10 %FKO0[J1 G1 F.L% 1 GO gl0%0

p HO= D 06% WS [bFD K1.6 GOD .1D .KD1D'Fh ! GFD6F 0%6 Q1 .J1 FVK SFI
0 .K06 0 K1.K1%%F.6F G1D 'F®%FO0G1%FD

p MOE ZS0 XSF% F.6 GOGF GOD1K FGOGF %  1GF%L D1 K60% 01 %FD GF.6F
GO gl0%0 XSF YF F%I 60 FI 6 % K1.KF 61D 1S 1 . bFD#$S.61 ID 11 DDbFD#
DIW%F %1$F61D GF .FOD DF F.K1.6%F| 0%0 FD6SG1

p N= ? %FD GF.6F GO gl0%0# .1 KOD1 G1 0 LQ%071 0.6F% 1%# K1.DS 60%L
1 F.L% 1 D1IW%F D1 K 60[J1# 0 XSFI KOWF%L GF WF%0% DF.G1 .FKFDDL% 1 0%0 D¢
0%10[J1 1 161 GF H3M "G1 D 6F%[1Da# .1 I*. |11# G1D FIW%1D GO gl0%0

p PF= | KOD1 GF 0 %10[J1 F.L% 0G0 D1 K60[J1 GF XSF 6%060# 1 p MO# 1
%FD GF.6F GO 11DDJ1 GFD Q.0%L GO F Y1%0 0%0 1 %1.S.KOIF.61 F 1 DFS
6 F%.1 GF GS%0[J1# XSF 7 KO .K1% 1%0G1 01 %001 %FQ IF.60 GO 1l DDJ1

01$%&
# #

% HC = D 1IDDbFD F%I0.F.6FD DF%J1 K111D60D KOGO SI0 GK M
"6%]Da FIW%1D 6 6S 0%FD F fC "Sla BS F.6F

p D= ?D *GF%FD GF WO0.KOG0 1S W 1K1D 0% OIF.60%FD# .G K0%J1 | FDO
1D DFSD %F %FDF.60.6FD .0D 11 DDbFD F%Il0.F.6FD

p HH= 1IFOGOOD 1l DDbFD# FDDOD %FS. % DF J1 .1 %001 GF fM "6%]Da G 0D
0%0 F F [J1 G1 %FD GF.6F F %FD FK6 1D BFK%F6L% 1D

p MO= ?K1%%F.G1 0QO FI XSO DXSF% GOD 1l DDbFD# KOWF%L 01 IFDI1
0%6 G1 1SW 1K1 0% 0IF.60% 0 .G KO[J1 G1 DSWD6 6S61

HC



3!

01$%&
- 20 3

1% HH= BJ1 0D DFQS .6FD 0D 1l DDbFD F%I0.F.6FD F%FD FK6 1D KOI 1D
6FIL6 K1D 1S L%FO KF 06 GOGF

= 11DDJ1 GF 1.D6 6S [J1# !SD6 [0 F FGO[J1

0a D FK61D K1.D6 6SK 1.0 #$S%*G K1# %FQ IF.60 F GF 6EK. KO FQ D 06 0 GF
%1$F61D# FIF.GOD 1S DSWD6 6S6 1D DSS$F 61D | 0 %FK 0[J1 GO gl0%0 1S GF DSOD
11 DDbFD# F 6%01 60[J1

Wa 0DDS.61 GF .06S%F00$S%*G K0 1S K1.D6 6SK 1.0 XSF YF DF$0 DSWIF6 G1#
FI K1DS60 F1 %FD GF.6F GO gl0%0# F1 F.L% 1 1S 1% 1S6%0 1l DDJ1#
1S Fl %00J1 GF %FKS%D1D %F D61D .FD6F FQ IF.61

Ka .6F% F.[J1 G1 D60G1 .1 S.K* 1

Ga SD1 G1D D*W1 1D IS.K 0D

Fa K% O[J1 GF DS %FDDJ1 F11G 7 KO[J1 GF G D6% 61

7a 6%0.D7F%].K 0 6F 1%L% 0 GO DFGF GO glo%0 F G1 S. K* 1

Qa %FGO[J1 G1 F.KGL1Fl F.L%1 F%FGO[J1 7.0 GOD %1 1D [bFD FI

Ya 0S61% 0O0[J1 00 1 %F7F 61 F'KF %F7F 61 0SDF.60%FIDF G1 S. K*o

a %FQ IF$S%*G K1 F %F G].K0 G1D DF% G1%FDIS.K 0D

$a %FQ IF$S%*G K1 0GI.D6%06 1 G1ID WF.DIS.K 0D

Ca 161# FVKF61 106E% 0D 1%[0IF.6L% 0D

la 09%10[J1 GF .1IFD GF 0S61% GOGFD 0%0 K0%Q1D IS.K 0D

.a %FKS%D1D .6F% 1D61D ID GFK DbFD GO %FD G].K 0

la 161D GF KF.DS%0D 1S DFIF Y0.6FD

a G %F 61D# GF F%FD GF 'F%F0G1%FD# KODDO[bFD F DSD F.DbFD G1 FVF%K*K 1 G1
10.G061

Xa DSDF.DJ1 GF 061D .1%l06 1D G1 VFKS6 1 XSF FVKFGFS 01 G %F 61
%FQS 0IF.60%

%a K1.]. 1D F K1.Dj%K 1D

Da 0DDS.61D 06 % F.6FD 11%Q0. O0[J1 G1 S. K* 1 .00GI. D6%0[J1 G %F60
F .G %F60

6a %FGO[J1

= 11 DDJ1 GF \ .0.[0D# ?%][0IF.61 F\ DKO OO0[J1

Oa 0DDS.61D %F 06 1D11%GFI FK1.vl KOIS. K O

Wa 1*6 KO F06 GOGF .GSD6% 0# K1IF%K 0# 0Q%*K1 0 F GF DF% [1D

Ka 1*6KOFDDG6FIO S.K 0 GF S% DI1

Ga DDG6FIO\.0% KF %1 S. GO

Fa G* GO mW KO S.K 0

7a 106E% 07 .0.KF %0 F 1%[0IF.6L% 0 mW KOD

Qa 7VO0[J1 GO %FIS.F%0[J1 G1D 'F%FOG1%FD# %F7F 61# 'KF %F7F 61 F
BFK%F6L% 1D S.K 0D



Ya D D6FIO 6% WS6L% 1 S.K 0
a 61I0G0# GK K1.60D G1 %F7F 61# .0Y j6FDF GF % J1 6F% D G1 0 %FDF.60G0
.1 %001
$a 7 DKO OO0[J1 GF FVFKS[J1 1%[0IF.6L% 0
Ca K1.60D 0.S0D GO FDOF G1 %F7F 61
la F61 Fl I06E% 0 1%][0IF.6L% O
.a KB60[J1 F K1.6%061 0GI . D6%06 1#
= 11 DDJ1 GK %WO0. DI1 F .7%0 D6%S6S%0 S.K 0
O0a 0.1 %F61%
Wa S%WO0. DI1# GFDF. 1 IF.61 S%WO0.1
Ka 11 F1KS 0[J1 G1 D1 1 S%W0.1
Ga YOW 60[J1# .7%0 FD6%S6S%0 S%WO0.0 F DO.FOIF.61 WLD K1
Fa 6%0.D 1%6FD K1 F6 1D
7a .6FQ%O[J1F 0.1 %FQ 1.0
Qa GF7FDOK
Ya DD6FIOIS.K 0 KF FD6%0GO0 GF %1GO0QFI F 6%0.D 1%6FD FI QF%0
& O+, (- &.
$a %1GS[J1 0D61% 0Q%*K10# | .F%0 F .GSD6% 0
Ca DF% [1D mW K1D
la 1W%0D mW KOD F 0%6 KS 0%FD
.a K1IS. KO[J1 F F.F%Q 0 F E6% KO
fa9%FKS%D1D Y*G% K1D
'= 11 DDJ1 GF GSKO[J1# BOmGF F F 1 IW F.6F
0a %FDF% O[J1 F %16F[J1 GF KS6S%0 1S 0%FD
Wa 6%0G [bFD G1 S.K* 1
Ka GFDF.1 IF.61 KS6S%0
Ga 0DDS.61D 06 .F.6FD IFGSKO[J1 FO1 F.D .1
Fa GFD 1%61D F 00F%
7a K% 0.[0# 0G1 FDKF.6F F G1D1
Qa ODD D6].K0OD1KO
Ya DOmGF
Ca XS0 GOGF G1DO IF.61D FGF7FD0 G1 K1.DSI G1%
$a IF 1 0IW F.6F# %FKS%D1D .06S%0D %F.1 L F D# 7 1%0# 70S.0 F D11
0%LQ%071 .K1 = ?D KOI1D 6FIL6 K1D 1S L%FO0 GF 06 GOGF GF KOGO
11DDJ1 F%I0.F.6F OW%0.QFI# 0 .G0# 1D j%QJ1D F %1Q%0I0D Q1 F%.0IF.60 D
K1l FFD %F OK 1.0G1D F %FD FK6 1 OK1I 0.YOIF.61 F 7 DKO OO[J1 1%[OIF.6Lo
% 0# DFI %F$S*01 GO 11DDJ1 %F7F% GO.1 .KD1

BF[L1

HM = D 11 DDbFD FI 1%L% 0D DJ1
= DFKOD

HM



= GF .XSE% 61

p G= D 1IDDbFD FI 1%L% 0D K11 1% DF J1 G1 .mIF%1 GF IFIW%1D
XSF 71% %F D61 .1 061 1S %FXSF% IF.61 GF DS0 K1.D6 6S [J1# GFD Q.0G1D F 1
%FD GF.6F 1% .G KO[J1 G1D *GF%FD# 1S .GF F.GF.6FIF.6F GF ODF# .1 %001
GF NT "XS0%F.60 F 1 61a Y1%0D 0jD K% 0% DF O 11 DDJ1# .J1 DF 7 OF% 0 FDK1 YO

pHH= 0 1.D6 6S[J1 GOD 1I DDbFD FI 1%L% 0D 1WDF% 0% DF L1 %1G*O 1
F.6%F 0D WO0.KOGOD .J1 K1.6FI 0GOD# GF 60 71%I0 XSF 61G1D 1D 0%6 G1D 1S
> 1K1D 0% 0IF.60%FD 1DDO0I 700F% DF %F %FDF.60%

pMO= 0%6 K 0[J1G1 'F%F0G1% FI 11 DDJ1 FI 1%L% 0 KSI % DF L
DFl %F$S*O1 GF DSOD 7S.[bFD FI 11 DDbFD F%I0.F.6FD#

01$%8&

%6 HN= D 1IDDbFD DFKOD DF%J1 K1.D6 6S*GOD 0%0 G0% 0%FKF% 1S
%F %FDF.60% 0 gl0%0 .1D DFQS .6FD KOD1D

= %21 1D [bFD XSF F%DO0%FI| 106E% 0 GF K1l F6].K 0 GF 10 D GF GS0D
11 DDbFD XSF GF 0l %1.S.K 0% DF XS0.61 01 IE% 61 1% .KO06 0G1 %FDo
GF.6F GO gl0%0# 1S 0 %FXSF% IF.61 G1 *GF% 1S GF %FD GF.6F GF 1I1DDJ1
.6F%FDDO0GO

= XS0.G1 0 glo%0 S.K 0 GF 0 DF% %F %FDF.60G0O FI B1 F. GOGF#

1.Q%FDD1D# B 1jD 1D 1S XS0.G1 0DDS.61D GF .6F%FDDFD G1 S. K* 11S 1GF%
FQDO06 1FV Q %0 %FDF.[0 GF'F®%FO0G1%FD

01$%& 4
21-

% HP = gl0%0 S.K 0# 0 %FXSF% IF.61 GF C3M 'YSI 6F%[la GF
DFSD IFIW%1D .D6 6S %L 11 DDJ1 0% OIF.60% GF .XSE% 61 0%0 0 S%0[J1 GF
7061 GF6F%I! .0G1 F 1% %001 KF%61 0 XSO 6F%L 1GF%FD GF . FD6 QO0[J1 %j % 1
GOD 0S61% GOGFD$SG K 0 D# 0 ElI GF 1S6%1D %F D61D FI F F .FDDF FQ IF.61

p 0= 1.DGF%0DF 7061 GF6F%I| .0G1 1 OK1.6FKIF.61 GF %F F 0.6F
.6F%FDDF 0%00 GO mW KO FO0 1%GFI K1.D6 6SK 1.0# FQO # FK1.vl KO FD1GO
G1 S.K* 1# XSF FD6 F% GF GOIF.6F KO%0K6F% O0G1 .1 %FXSF% IF.61 GF 1.Do
66S[J1 GO 11DDJ1

pH7= FKFW G1 1 %FXSF% IF.61# 1 %FD GF.6F .11FO0%L 1D DFSD IFIW%1D#
GFDGF XSF D06 D7F 61D 1D %FXS D 61D %FQ IF.60 D# KOD1 K1.6%L% 1# GF1] 1L 01
S61%# KOWF.G1 GFD60 GFK DJ1 %FKS%D1 0%0 1 F.L% 1# .1 %001 GF fP 'K .Kla
DFDDbFD# 1S .G1 DF 0 11 DDJ1 GF 1.D6 6S [J1#!SD6 [0 F FGO[J1

p MO= 11 DDJ1# XSF 1GF L 06S0%# 60IWEI# GS%0.6F 1 %FKFDD1 0% 0o
IF.60%# 6F%L 1 %001 GF CHf 'KF.61 F .6Fa GOD# %1%%1QL F 1% O6E IF60GF#
IFG 0.6F GF WF%0[J1 G1 F.L 1# 0%0 K1.K SDJ1 GF DFSD 6%0WO0 Y1D#

p Nc= J1 DF K% 0%L 11DDJ1 0% OIF.60% GF .XSE% 61# F.XS0.61 FD6 Fo
%FlI 7S.K1.0.G1 F1 IF.1D GSOD .0 gl0%0# DO 1 IFG 0.6F %1$F61 GF

HN



%FD1 S[J1 K11 1 IFDI1 XS1%SI| GF 0 %FDF.60[J1 %F D61.1  ):-( GFD6F 0%6 Q1

pPO= 1IDDJ1 0% OIF.60% GF .XSE% 61 6F%L DSOK1I 1D [J1 .SIE% o
KO .G KOGO .1 %FXSF% IF.61 1S %1$F61 GF K% 0[J1

p RO= 1 061 GF K%O0[J1 K1.D60%J1 0 %1 DJ1 GF IF1D 1S %FKS%D1D
0GI . D6%06 1D 0D K1.G [bFD 1%Q0. O0K 1.0 D F 1 ODDFDD1%0IF.61 .FKFDDL% 1 01
W1l GFDFI F.Y1 GO 1IDDJ1# .KSIW .G1 g FDOF| GI.D6%0[J1 GO 0DO
1 06F.G IF.61 %F7F%F.K Ow GOD %1 G].K 0D XSF D1 K 60%

% HR = 11DDJ1 0%O0IF.60% GF .XSE% 61 1GF%L# 1WDF% 0GO 0
FQ D 0[J1 FD FK*7 KO

= FXS D 60%7S.K 1.L% 1D 0G| . D6%06 1D GO gl0%0

= GF6F%I.0% G Q].KOD# 1S % OKSDOGLD# .XS % % 6FD6FIS.YOD D1W
K1l %11 DD1# %FXS D 60% .71%I0[bFD F GLKSIF.61D# %FXSF%F% 0 0SG ].K 0 GF
'F9%FOG1%FD F BFK%F6L% 1D
= KSIW % XS0 XSF% GF DFSD IFIW%1D 1S 7S.K 1.L% 1D %FXS D 60G1D

G1D DF% [1D GO gl0%0# GO %F0 O0[J1 GF D.GKg.KOD F G Q].K 0D .FKFDDL% 0D
01D DFSD 6%0WO0 Y1D# G0.G1 K1.YFK IF.61 %E 1 |FDO

"= GFD 1K0% DF 0 XS0 XSF% 1.61 G1 F%% 6j% 1 OK 1.0 0%0 0 %FO0 OO0
[J1 GF . FD6 QO[bFD F 0SG ].K 0D mW KOD

' = FD6 S0% %001 0%0 1 06F.G IF.61 KF XSO XSF% %1 G].KO0 1S
%F0 O0[J1GF G Q].K 0DIWOD F.ODGO F# FVKF61 XS0.G1 GO0 [0GOGF 0S61% G0o
GFD$SG K L% 0D
= DF 71%F6. G F%D1D 1D 7061D .6F% %F OK 1.0G1D 1W$F61 G1 .XSE% 61;
G OF% FI DF 0%0G1 D1W%F KOGO Sk IFDI1 0.6FD GF 7 .G0 0 . FD6 QO0[J1 K1I 1D
GFIOD

0%LQ%071 |. K1 = 1 6E%I.1 G1D 6%0WO0 Y1D# 0 11DDJ1 0 %FDF.60%L
%F 06% 1 K %KS.D60.K 0G1# K1l DSOD K1.K SDbFD# F.KOI .Y0.G1 | FDO 0%0 0D
%1 G].KOD GF 0[0G0 GFD60 1S G1 F.L% 1 17F%FKF.G1# K1.71%IF 1 KOD1#
%1$F61 GF F# GF GFK%F61 FQDO06 1 1S GF %FD1 S[J1# 1S .G KO[J1 XSF DF%
K S*G1 .0 1%GF| G1 G 0 GO DFDDJ1 1%G .L% 0 DFQS .6F

$%& "

3

% H2= D 1l DDbFD 6F%J1 SI %FD GF.6F F S| BFK%F6L% 1# F F 61D 1%
DFSD 0%FD# K1 10.G061 06E CP GF 7F F%F %1 G1 0.1 DSWDFXiF.6F | 1DDF# FGOGO
0 %FF F [J1

p 0= %FD G %L0%FS. J1 1'F%F0G1% I0D 160G1 GF.6%F 1D IFIW9%1D GO

1I1DDJ1

p P = BF 0Q0% 1 K0%Q1 GF %FD GF.6F 1S GF BFK%F6L% 1# %1KFGF% $DF
10FF[J1 0%0 FDK1 YO G1 DSKFDD1%# DO 1 DF 70 60%FI IF.1D GF 6%]D IFDFD 0%0
1 6E%I .1 G1 10.G061# KOD1 FI XSF DF%L %1 G1 .0 71%I0 .G KOGO .1 )i(
GFDG6F 0%6 Q1

% HT = 1 BFK%F6L% 1 GO 11DDJ1 K1l F6F# O0ElI GF DSWD66S % 1
%FD GF.6F# 1 XSF YF E 06% WS*G1 .1 %FQS 0IF.61 GOD 1l DDbFD

HP



= FG Q % F ] 0060 GO %FS. J1 0.6F% 1%# ODD .0.G10K1 .1 %FD GF.6F
FVFKS60% 1S6%0D 60%F70D YFD K1.7 0G0 F 1 %FD GF.6F
= DSWD6 6S % 1 %FD GF.6F FI DSOD 70 60D F FI FG IF.61D
%6 HU= 1 %FD GF.6F GO 1I DDJ1 K1l F6F# 0 El G1 XSF YF E 06% WS*0
G1 .FD6F FQ IF.61# 1S .1 %FQS 0IF.61 GOD 1l DDbFD
= DD.0 0 K1%%FD 1.G].KO F GFIOD G1KSIF.61D FV FG G1D FO
11DDJ1
= K1.1K0 8 F %FD G % 61GOD 0D %FS. bFD GO 11 DDJ1 F .F 0D 10.6F% 0O
1%GFI FD1 F. GOGF .FKFDDL% 0D
= DSWIF6F% 0 G DKSDDJ1 F 160[J1 0060 GO %FS. J1 0.6F% 1%
"= G0% | 11DDJ1 K1.YFKIF.61 GF 61GOD 0D I06E% 0D %FKFW GOD F
GFD OKYL 0D
"= G0%| 11DDJ1 FID GF%O0.[0D K1.YFK IF.61 GO 0S60 GOD %FS. bFD#
%F D60 F 1%Q0. 00G0 .0 71%I0 GFD6F FQ IF.61 FG1 FQS OIF.61 GOD 1I Do
DbFD
' = GFD Q.0% F 061%FD F G D6% WS % YFD 0 106E% 0 DS$F 60 0 0%FKF%# 1S
01KJ 0# .0D DSOD 70 60D
" = K1.KFGF% 0 00 %0 01D IFIW%1D GO 1IDDJ1# 01D *GF%FD F 01D
'F%FO0G1%FD XSF 0D1 K 60%FI
' = 0G F%6 % 1 1%0G 1% XSF DF FV0 60% .1 GFK1%1 G1D GFWOBFD# 1S .K1%%F%
0D .7%0[bFD GF XSF 6%060 1 0%6 Q1 HIT GFD6F FQ IF.61 .6F%.1
h= .6F%%1l F% 1 1%0G1% XSF FD6 F% 70 0.G1 DIW%F 1 F.K G1 F %F6 %0%
YFO 00%0 .1 KOD1 GF GFD1IWFG ].K 0
h = DSWIF6F% 0 161 0D XSFD6bFD DS$F 60D | GF WF%0[J1 GO 1I1DDJ1 F
%1K 010% 1 %FDS 60G1 GO 160[J1
h = K1.KFGF% D60 GOD %1 1D [bFD 01D IFIW%1D GO 1IDDJ1# .1D
6F%I1D G1 0%6 Q1 N# h  GFD6F FQ IF.61 .6F%.1
h = 0DD.0% 1D 0%FKF%FD#$S.60IF.6F K1l 1 %F 061%
h = F. 0 | FDO61G0 0106E% 0 GFD6.0G0 | F6S%0 FI F.L% 1 F |
SW K GOGF
h'= %F %FDF.60% 0 1l DDJ1 .0D DSOD %F O[bFD K1l 0 FDO# 0D 1S6%0D
11 DDbFD F 1D *GF%FD# 1S FV6F%.0D | 0DO
h' = D1 K60% 01 %FD GF.6F GO gl0%0 0 GFK 0%0[J1 GF OKg.KO0 .0
11 DDJ1# K1.D10.6F 1 0%6 Q1 MH# GFD6F FQ IF.61# 1S GFD Q.0[J1 GF DSWD6 6561
0%0 1 IFIW%31 70 61D1# .1D 6F%I1D GFD60 FD1 S[J1
h' = %FD1 F%# GF 0K1%G1 K1l FD6F FQ IF.61# OD XSFD6bFD GF 1%GFI| 1S
%FK 010[bFD DSDK 60GO0D .0 11 DDJ1
h' = %FIF6F% | FDO# .1 .*K 1 GF KOGO [ID# DSIL% 1 G1D 6%0WO0 Y1D GO
11DDJ1 F# .1 7| GF KOGO DFDDJ1 FQ D 06 0# K111 DSWD*G 1 0%0 0D .1 DF GOD
06 GOGFD GO 0DO# %F 06j% 1 D1W%F 1 0.GOIF.61 F FVOIF GOD %1 1D [bFD
G D6% WS*GOD g 11 DDJ1
h' = GF FQO%# XS0.G1 F.6F.GF% K1. F. F.6F# 01 BFK%F6L% 1# 0 G D6% WS 0
[J1 GOD %1 1D [bFD

HR



h%h = %FXSF%F% 01 %FD GF.6F GO gl0%0# XS0.G1 $S Q0 .FKFDDL% 1# 0
G D6% WS [J1 GF 106E% 0 01S6%0D 11 DDbFD

hh = D1 K60% 01 j%QJ1 GF ODDFDD1%0IF.61 .D6 6SK 1.0 # GF DSO . K06 0#
1S0 FG G1 G1 F 061%# 0 %FD60[J1 GF ODDFDD1% 01S K1.DS 61% 06EK. K1 FQ D 06 0
1S FD FK 0 O0G0# GS%0.6F 0D %FS. bFD GO 11DDJ1 1S 0%0 .D6%S % 0D I06E% 0D
DS$F 60D |0 %FK 0[J1 GFD60

p G= ? %FD GF.6F 1GFI#7S.K 1.0% K111 F 061% 1S F 061% DSWD6 6S61
F 6F%L 161 .0D GF WF%O0[bFD GO 11 DDJ1

p HH= ?D %FD GF.6FD GOD 1IDDbFD F%I0.F.6FD %FS.% DFJ1 K1l 1
1 EQ 1 GF *GF%FD DFI %F XSF DD1 YFD 0%F[0 K1. F. F.6F# 1S 1% K1. 1K0[J1
G1 %FD GF.6F GO gl0%0D1W 0 %FD G].K 0 GFD6F# 0%0 1 FVOIF F ODDF.60IF.61
GF %1 G].KOD %F06 ODIF7 K].K0G1 6%0W0 Y1 FQDO06 1

p MH= 0 %FS. J1 DFQS .6F | %F D60 .FD6F 0%6 Q1# KOGO %FD GF.6F K1ISo
.KO0%LO01 F.L% 1 GO%FDFK6 0 11DDJ1 1 XSF GF 06 F% %FDS 60G1

p& = 1 %FD GF.6F GO 11 DDJ1 K1l F6F# 0.GO# G0% K ].K 0| FDO GO
G060 F Y1%L% 1 GF %FS. J1 GFD Q.0G0

p PO= ? %FD GF.6F GO 11DDJ1 DF%L DSWD6 6S*G1 FI DSOD 0SD].K 0D F
| FG IF.61 6FI 1%L% 1# F 1 BFK%F6L% 1

$%& "
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%6 Mf= F.YSI 'F%F0G1% 1GF%L %FD G % %FS. J1 GO 11 DDJ1 XS0.0
G1 DF GFWO06F% 1S 160% I0O6E% 0 GO XSO DF$0 S61% 1S F 061%

0%LQ%071 |. K1 = J1 1GF%L 1 S61% GF %1 1D [J1 DF% GF O F 061%#
0.G0 XSF DSWD6 6S61 1S 0%K 0 #

%6 MC = BFI %F XSF Sl IFIW%1 GO 1I1DDJ1.J1 1GF K1l 0%FKF% ID
%FS. bFD# GF F%L K1IS. K0% 17061 01 DFS %FD GF.6F# XSF 70%L SW K0% FI 0600
FDKSDO

p U= BF# 1% 70 0 GF K1l 0%FKIF.61 GF IFIW%1 F7F6 1# 1S GF
DS F.6F GF 11 DDJ1# FD6 F%DF.G1 %F$SG KOG1 1 6%0WO0 Y1 GF XS0 XSF% 11 Do
DJ1# 1 %FD GF.6F GO gl0%0# 0 %FXSF% IF.61 G1 %FD GF.6F GO 11DDJ1 1S GF
XS0 XSF% 'F®%F0G1%# GFD Q.0%L DSWD6 6S61 0%0 1 IFIW%1 70 61D1# 1% .G KO[J1
G1 *GF% GO %FD FK6 0 WO0.KOGO

p HO= FDDO0%L 0 DSWD66S[J1 1Q1 XSF 1 66S0%# 1S 1 DS F.6F 160% 01
FVF%K*K 1

= | KOD1 GF 106E% 0 S%QF.6F 1S %F F 0.6F# KOWF%L 01 *GF%# IFG 0.0

6F D1 K60[J1 G1 %FD GF.6F GO 11 DDJ1# .G K0% 1S6%1 IFIW%1 GF DS0WO0.KOGO
0%0 DSWD6 6S %# F%0 %FS. J1# 1 IFIW%1 0SDF.6F

$%& "

%6 MH= 0QO FI 11DDJ1 F% 7 K0%DFL FI %6SGF GF 6E%I .1 G1
10.G061# %F.m.K 0 1S F%G0 G1 SQ0%



p 7= EI G1 XSF FD60WF FKFI 1D 0%6D Nf F CU2# F%GF%L# 0S61106 KOo
IF.6F# 1 SQ0% .0 11DDJ1 1 'F%F0G1% XSF .J1 K1l 0%FKF% 0 K .K1 DFDDbFD#
1%G .L% 0D K1.DFKS6 0D# 1S 0S| XS0%61 GOD %FS. bFD .6F%KO0 0GOIF.6F# GS%0.6F
ODFDDJ1 FQDO06 0# D0 1116 1 GF 71%[0 10 1%#$SD6 7 KO.G1 1% FDK% 611 11 Do
DJ1 F%GO0 Gl SQ0% DF%L GFK 0%0G0 F 1 %FD GF.6F GO gl0%0 FI %6SGF GF
K1IS. KO[J1 G1 %FD GF.6F GO 11DDJ1

p HO= ? 'F%F0G1% XSF F%GF% 1 SQ0% .SI0 1IDDJ10FF .J1 1GF%L
%F6110% .0 IFDIO DFDDJ1 FQ D 06 0

pMO= 0QO FI 11 DDJ1 DF%L %FF.KY GO 1% GFD Q.0[J1 G1 %FD GF.6F
GO gl0%0# .1 .6F%%FQ.1 GF 6%]D DFDDbFD GF 0K1%G1 K110 .G KO[J1 7F 60 F 1
*GF% G1 0%6 G1 1S> 1K1 0% OIF.60% 0 XSF F%6F.KF 1 SQ0%# 1S .GF F.GF.o
6FIF.6F GFDDO K1IS. KO[J1# DF 71% 7F 60 .FDDF %001

68, "

'6% MM = D 1l DDbFD %FS. % DF J1 .0 DFGF GO gl0%0# FI G 0D F Y1%0D

%F7 VOG1D# SW KOIF.6F

p 7= |.F.YSI KOD1# 0 .GO XSF 6%060 GF %FS. J1 FV6%01%G .L% 0# 1 DFS
Y1%L% 1 1GF%L K1 .K G % K1l 1 GO DFDDJ1 1%G .L% 0 1S FV6%01%G .L% 0 GO glOo
%0

p HO= D %FS.bFD GOD 1IDDbFD FI 1%L% 0D .J1 GF F%J1 DF%
K1.K1l 60.6FD K1l 0D %FS. bFD 1%G .L% 0D GOD 11 DDbFD F%l0.F.6FD

pM7= > %FS.DbFD FV6%01%G .L% 0D GOD 11 DDbFD DF%J1 K1.1KOGOD F 0
%FD FK6 0 %FD G].K0# GF 1**K 1 1S 1% %FXSF% IF.61 GO 10 1% 0 GF DFSD IFlo
W%1D

p NO= D %FS. bFD FV6%01%G .L% 0D DF%J1 0.S.K 0GOD K1l 0 GF GO 0.6FKFo
G].K 0# GFD Q.0.G1 DF# .1 0 D1 GF DSO K1. 1KO[J1# G O# Y1%0# 1KO F 1W$F61 GO
%FS. J1# 06%0 ED GF 17 K1 %161K1 0G1

p PB= D %FS.bFD GS%0%J1 1 6Fl 1 .FKFDDL% 1 01 FVOIF GO 0S60
%FD FK6 0# 0$S*O1 GO %FD G].K 0

% MN= ? %FD GF.6F GO 11 DDJ1 F%Il0.F.6F 1%Q0. O0%L 0 1%GFI G1
0 GF DSOD %FS. bFD 1%G .L% 0D F FV6%01%G .L% 0D GF 0K1%G1 K1I 1D K% 6E% 1D .1
0*%S1' Gl *6S1°'

0%LQ%071 |. K1 = \.GO0 0 Y1%0 G1D 6%0WO0 Y1D# 1 %FD GF.6F 0.S.K 0%L 0
?%GFI G1 0 GO %FS. J1 DFQS .6F# G0.G1 DF K].K 0 GO 0S60

$%& !
* 4
01$%&

6 MP= ?D 6%0WO0 Y1D GOD 1l DDbFD DF%J1 .K 0GOD K1l 0 %FDF.[0 GO
10 1% 0 GF DFSD FIW%1D# 1WFGFKF.G1 0 DFQS .6F 1%GFI



= DKSDDJL F 160[J1 GO 060 GO %FS. J1 0.6F% 1%
= FV FG F.6F

0a B.1DF GO K1%%FD 1.G].K0 F 1S6%1D G1KSIF.61D %FKFW G1D F GO

0QF.GO GO 11 DDJ1
= 0?%GFIG1 0

0a K1.YFK IF.61# FVOIF 1S .D6%S[J1 GF I06E% 0 GF .06S%FO0 FQ D 06 0#
* DKO 006j% 01S .71%I106 0# 1S 1S6%1D 0DDS.61D GO 0 [0G0 GO 1l DDJ1

Wa G DKSDDJ1 F 160[J1 GF %FXSF% IF.61 F %F 06j% 1 FI QF%0

Ka GDKSDDJLF 160[J1 GF 0%FKF%FD DS$F 61D | 0%10[J1 G1 F.L% 1 GO
g10%0

p 0= DDO 1%GFI 1GF%L DF% 0 6F%0G0 F 0 1l DDJ1# 0%FXSF% IF.61 GF
DFSD IFIW%1D 0%0 6%060% GF I06E% 0 FI %FQ IF GF S%Q].K 0# GF % 1% GOGF 1S
GF 6%01 60[J1 1%G .L% O# 1S# 0.GO# .1 KOD1 GF K1l 0%FK IF.61 GF BFK%F6L% 1
S.K 0 1S XS0 XSF% 0S61% GOGF# F GF %F0 O0[J1 GFOSG ].K 0 mW KO

pHc= ? 'F%FOG1% 1GF%L 0%6 K 0%# DFI G %F 61 0 161# G1D 6%0W0 Y1D F
GFWOBFD GF XS0 XSF% 11 DDJ1 GF XSF .J1 DF$0 IFIW%1

%6 MR= D 1l DDbFD F%I0.F.6FD 1GF%J1 FD60WF FKF% %FQ%0D F K1.G o
[bFD FD FK*7 KOD 0%0 0 1%Q0. O0[J1 F 1 W1l 0.GOIF.61 G1D DFSD 6%0W0 Y1D#
1WDF% 0GOD 0D .1%I0D 7 VOGOD .FD6F FQ IF.61 F 1 FQS OIF.61 GOD 11 DDbFD#
WFI K111 6F% FO061%FD F F 061%FD BSWD66S61D %F OIF.6F GFD Q.0G1 1%
0DDS.61D

01$%& 4
5

%6 M2= VKF6S0G1D 1D KOD1D FI XSF FD6F FQ IF.61 GF6F%I .F GF 71%I0
G F%DO0# 0D 11 DDbFD GF F%J1 1WFGFKF% 01D DFQS .6FD %001D 0%0 FVOI .0% OC
%21 1D [bFD F D1W%F FOD GFK G %
=7? 61 G OD# XS0.G1 DF 6%060% GF I106E% 0 FI %FQ IF GF S%Q].K 0
= GFO G 0D# XS0.G1 DF 6%0060% GF 106E% 0 FI %FQ IF GF % 1% GOGF
= .GF F.GF.6FIF.6F GF %001# XS0.G1 DF 6%060 GF I06E% O FI
%FQ IF GF 6%0I 60[J1 1%G .L% 0
'= 11FDI1 %001 GO %1 1D [J1 % .K 0# XS0.G1 DF 6%060% GF FIF.o
GOD 0 %FDF.60GOD .1 F.L% 1 GO gl0%0# K1%%F.G1 FI K1.$S.61 0%0 61G0OD 0D
11 DDbFD
p 0= FKFWG1 F1 %FDGF.6F GO 11DDJ1 F%I0.F.6F# XS0 XSF%
%1 1D [J1# FD6F GFD Q.0%L F 060% FI NT “XS0%F.60 F 1 61a Y1%0D# DF .J1 %FDF%
0% 0 FIDDJ1 G1 0%FKF%# 1 XSF GF F%L DK% 0 %FDF.60G1 FI
0a %]D G OD# XS0.G1 DF 6%060% GF I106E% O Fl %FQ IF GF S%Q].K 0
Wa .K1 GOD# XS0.G1 DF 6%060% GF 106E% 0 GF % 1% GOGF
p HO= . DF 6%060.G1 GF I06E% 0 GF %FQ IF GF S%Q].K0# 1 F 061% DF%L
GFD Q.0G1 F1 %FD GF.6F GO 1IDDJ1 FI HN * .6F F XS06%1la Y1%0D# G1 DFS
%FKFW IF.61



p Me= DQ160G1l 1 %001 GFD6.0G1 01 F 061%# DFI XSF FDDF 0 %FDF.6F
0%FKF%# DF%L 0561106 KOIF.6F GFD Q.0G1 SI DSWD6 6S61 6F.G1 0 0 0 %FDF.600
[J1 G1 0%FKF% 0 IF60GF G1 %001 01 % IF %1

$%& 6
# -

%6 MT= .F.YSIO 11 DDJ1 KOWF I0. 7FD60% DF D1W%F 1 XSF .J1 71% GF
DS006% WS [J1 FD FK*7 KO

0%LQ%071 . K1 = 1.D GF%0% DF L K111 .J1 FDK% 61 1 0%FKF% 1S 0%6F
KFF# XSF .7% Q % 1 G D 1D61 .FD6F 0%6 Q1# 1 IFDI1 0K1.6FKF.G1 FI %F 0[J1 ID
FIF.GOD DSWD6 6S6 1 F 0W1%0G1D K1l 10[J1 G1 0%6 Q1 TT# GFD6F %FQ IF.61#
GFDGF XSF %1 GO %FK 0I0[J1 0 %FDF.60G0 0.6FD GO 0 %1 0[J1 GF7.6 0 GO
I106E% 0 FOD 1IDDbFD 1S F1 F.L% 1

%6 N= ?D %1$F61D GF F F GFIOD %1 1D [bFD G D6% WS*GOD ID 11 Do
DbFD# K1.D10.6F 1 G D 1D61 .1 0%6 Q1 CCC# GFD6F FQ IF.61# DF%J1 FVOI .0G1D
F1 F061% GFD Q.0G1 FI DFS gIw 61

p D= GDKSDDJ1F 160[J1 G1 0%FKF% FO GO %1 1D [J1 DF%J1 %F0 O0GOD
.0D00GOD 11 DDbFD

pHH= BO 1 GD 1D [J1 K1.D6 6SK 1.0 FI K1.6%L% 1# 0D GF WF%O0[bFD GOD
11 DDbFD DF%J1 6110GOD 1% 10 1% 0 G1D 161D %FDF.6FD 0 10 1% 0#0WD1 S60 GF
DFSD IFIW%1D# %F 0 FKF.G1 FI KOD1 GF FI 06F 1 161 G1 F 061%

% Nf= 1 GFDF.1 IF.61 G1D DFSD 6%0WO0 Y1D# 0D 1| DDbFD 1WDF% 0o
%J1 0D DFQS .6FD .1%I0D

= 1 KOD1 GF I06E% 0 G D6% WS*GO 1% GF F.G].K0 0%0 6%0I 60[J1
K1.$S.60# KOGO 1IDDJ1 K1l F6F.6F# FI DFS 0%FKF%# GF F %1.S.K 0% DF FI
%F 0[J1 0 61GOD 0D %1 1D [bFD 0 F.DOGOD
= XS0.G1 G 7F%F.6FD 106E% OD DF F.K1.6%0%F| .SI IFDI1 %1$F61#
1GF%J1 0D 11 DDbFD G G OD 0%0 K1.D6 6S*%FI FI %1 1D [J1 DF 0%0G0 %Fo
IF6F.G10D L FDO 0%0 F7F 61 GF %F.SIF%0[01 GF G D6% WS [J1
= 01 0 %FK 0% XS0 XSF% I06E% 0# O 11DDJ1 1GF%L %1 1% O DSO

0G1[J1 1S 0DSO0 %F$F [J1 6160 1S 0%K 0 # DSQF% % 1 DFS 0%XS 0IF.61# 71%IS 0%
%1$F61 GF 0 GFK1%%F.6F# G0% YFDSWD6 6S6 1 F 0 %FDF.60% FIF.GOD 1SDSWFIF.GO

'=E *K 61 ID 11 DDbFD GF6F%I! .0% 1 0%XS 0IF.61GF OEDF. 0G1 |
DS0 0 %FK 0[J1# FVKF61 %1 1D [bFD# SW KO0.G1 DF 1 GFD OKY1 %FD FK6 1 .0 060
GF DFSD 6%0WO0 Y1D

'= G11 0%FKF%# DF%L F F GF IFG 061 DSWIF6 G1 | G DKSDDJ1

' = GS%0.6F 0 GDKSDDJ1 .0 11DDJ1# 1GFI SD0% GO 00%0 1 S61% G1
%1$F61# 1 F 061%# GFIOD IFIW%1D F *GF%# GS%0.6F XS .OF |.S61D
| %1%%1QL F D# F# 1% GFO |.S61D# 'F®%FOG1%FD XSF 0 FO .J1 F%6F.[0 E
70KS 60G0 0 0 %FDF.60[J1 GF %FXSF% IF.61 GF F.KF%%O0IF.61 GO G DKSDDJ1 0jD
70 0%F| 6%]D 'F%FO0G1%FD 070 1% F 6%]D K1.6%0# 0 6F%.0GOIF.6F

' = 1D S61%FD 6F%J1 K].K 0# K11 0.6FKFG].K 0 I*. |0 GF %]D G 0D# GO



G060 FI XSF DSOD %1 1D [bFD DF%J1 G DKS6 GO KI 11 DDJ1 6EK.KO# DO 1 DF
FD6 F%FI FI %FQ IF GF S%Q].K 0

' = F.KF%%0GO0 0G DKSDDJ1 DF%L GOGOO 00%001 F 061% 0%00 %E KO#
DF 71% 1 KOD1# 1% .6F |1.S61D# %I1KKGF.G1 DF# FI DFQS GO# | 160[J1 G1
0%FKF%

h=DF71% 0 %1 0G1 1 0%FKF% FI 61G1D 1D DFSD 6F%I|1D# DF%L 6 G1 K111 GO
11 DDJ1 F# GFDGF 1Q1# 0DD.0G1 F1 %FD GF.6F# F1 F061% F F 1D 0S61%FD
GF 161D F.K G1D# FIDF 0%0G1 1S K1l %FD6% [bFD# XSF 10. 7FD60I 0 .6F.[J1 GF
)00] 1 K1.D 0%J1 GO K1.K SDJ1 .1IFD F 1D %FD FK6 1D 161D

h=DF1 161 G1 F061% .J1 71% 0G160G1 FO 1IDDJ1 0 %FGO[J1 G1
0%FKF% {F.G1% DF%L 7F 60 06E 0 %FS. J1 DFQS .6F F 1 0S61% G1 161 F.KG1 F
GOG1 F1 %16 1 F061%

h = 0%0 1 F7F61 GF K1.60QFI G1D 161D %F 06 1D 01 0%FKF% DF%J1
K1.D GF%0G1D

Oa 701%L FD= 1D 8 F 0D K1.K SDbFDs# 8K1l %FD6% [bFDs 1 «FI DF 0%0G1Ds
J1 G F%QF.6F GO#D K1.K SDbFD

Wa K1.6%L% 1D = 1D 'F.KG1Ds F 1D 8FI DF 0%0G1Ds G F%QF.6FD GOD
K1.KS Db F D €EEEEEEEEECECEEEEEECCECECELCECELEEEELELEE

h = DFI %F XSF 0G160 0%FKF% K1l %FD6% [J1# 1 IFIW%1 GO 11 DDJ1
FV %FDDO%L FI XSF K1.D D6F 0 DSO G F%Q].K0 .J1 700F.G1# 1 DFS 161 DF%L
K1.D GF%0G1 .6FQ%O0 IF.6F 70 1%L FECEEEEECECECCECECCEECEEECECECEEEE

IFIW%1 GO 11DDJ1 XSF FG % D61 G1 %1KFDD1# DF% YFL

K1.KFG GO FD60 1% 6%]D G 0D# DF .J1 DF 6%060% GK 106E% 0 FI %FQ IF GF S%Q].K 0
XS0.G110 DGFSI IFIW%1 GO 11 DDJ1# D IS 60.FOIF.6F# FG % D60# F 0 DF%L
K1.$S.60 F .0 %j % 0 1I1DDJ1# .J1 1GF.G1 YO F% 06F.G IF.61 0 FK G1D
DSKFDD 1D

h '=FI DF 6%060.G1 GF 106E% 0 FI 6%0I 60[J1 FI %FQ IF GF S%Q].K 0# 0
K1.KFDDJ1 GF D60 GF XSF 6%0601 .K D1 0.6F% 1% DF%LGF HN * .6F F XS06%1a Y1%0D

h'= .F.YSIO %%0G 0[J1 1S Q%0 0[J1 1GF%L DF% 7F 60 G1D 6%0WO0 Y1D GOD
11 DDbFD DFI %E 0 0S61% O0[J1 G1 DFS %FD GF.6F# 1WDF% 0GO 0D G %F6% OFD
7VOGOD F 0 FDO

h' = XS0.G10 QSI IFIW%1 GO 11 DDJ1 %F6 F% FIDFS 1GF% OEDO
F 0 F%6F.KF.6F# 0K 160% DF L 1 DFQS .6F %1KFG IF.61

Oa FKOIO[J1 F%WO F31S 1% FDK% 61# 0%0GF 1 S[J1 GF G1KSIF.61D

Wa 7%SD6%0G0# 0 %FK 010[J1 FDK% 60 G1 %FD GF.6F GO 11 DDJ1# 1 7F61 DF%L
K1lS. KOG1 | FDO

Ka 1 %FD GF.6F GO gl0%0 70%L 0 F1 0 FD6F IFIW%1 GO 11DDJ1 .1
DF.6 G1 GF 06F.GF% | %FK 010[J1# 7 VO.G1 YF 0%0 DD11 %001 GF 6%]D G 0D

Ka DF# F.KG1 1 %001# .J1 YOF% DG1 06F.GG1 1 0F 1# 1 %FD GF.6F GO
910%0 GFD Q.0%L DSWD6 6S61 .0 11 DDJ1 0%0 1 IFIW%1 70 61D1# 1% .G KO[J1
Gl *GF% GOWO0.KOGO %FD FK6 0 F 10.G0%L %1KFGF% | %FD60S%0[J1 G1D 0S61D

h' = 1IFIW%1 GO 1IDDJ1 1GF F0.60 XSFD6J1 GF 1%GFI D1IW%F 0
0[J1 1S 11 DDJ1 G1 j%QJ1 6EK. K1 XSF .6FQ%0# 10D D1IF.6F GF 1 D GF %FD1 GO#



K1.K SD OIF.6F# F 1 DFS %FD GF.6F 1GF%L 0 XSFD6J1 DF% F 0GO0# FI Q%0S GF
%FKS%D1# 1% FDK% 61# 01 %FD GF.6F GO gl0%0# DFI %F$S*O1 G1 0.GOIF.61 GO
I106E% O FI 6%gl 6F

%6 NC= .KF%%0G000 %FK 0[J1 K1.K SD 0GOI106E% 0 FOm 610 1l Do
DJ1# 0 %1 1D [J1 1S 1D %FD FK6 1D 0%FKF%FD DF%J1 F. 0G1D 01 %FD GF.6F GO
910%0 0%0 .K SDJ1.0 ?%GFI G1 0

$%& 6
7 S5#

V NH= 1.D6 6SFI 061D 1S 7061D DS$F 61D | 7 DKO 001 F K1.6%1 F GO
gl0%0 S.K 0 FDSOD 1l DDbFD
= 1D 1DD*FD GF 7DKO OO0[J1# K1.6LW # 7.0.KF %0# 1%[0IF.6L% 0 F
06%11.0 %F7F% GO  0%6 Q1 2fGO 1.D6 6S [J1 \FGF%0 F.0 F ?%Qg. KO G1
S.K* 1
= 1D 061D GF QFD6J1 0GI . D6%06 0 G1 1GF% VFKS6 1# .K S*G1D 1D GO
0GI . D6%0[J1 .G %F60# DF$0 XSO 71% 0 0S61% GOGF XSF 1D 6F.YO0 %06 KOG1
= 1D 061D G1 %F7F 61 F G1'KF %F7F 61# G1D BFK F6L% 1D S.K 0 D#
BSW %F7F 61D XSF | 1%60%FI# 6 KOIF.6F# K% IF GF %FD 1.D0W GOGF
"= 1D G1 XSF DF 6%060 1 0%6 Q1 HCT# GFD6F FQ IF.61
%6 NM= 7 DKO OO[J1F K1.6%1 F G1D 061D G1 1GF% VFKS6 1# .K S*.G1D
1D GO 0GI . D6%0[J1 .G %F60# F 0 11 DDJ1# D1W%F KOGOI06E% 0 GF K11 F6].K 0
GFD60 1WFGFKF%J1 ID %FQ%0D DFQS .6FD
= 0 %11D60 GF 7DKO O0[J1 F K1.6%1F 1GF%L DF% 0 %FDF.60G0 1%
XS0 XSF% IFIW%1 1S 'F%F0G1% | 11 DDJ1# K1l FD FK*7 KO .G KO[J1 G1 061 F
71.GOIF.60[J1 GO %1 G].K 0 1IW$F6 0GO
= %1 1D60 DF%L %F 060G0 %F OIF.6F# XS0.61 | 11%6S. GOGF F
K1.F.].K 0 GO IFG GO F 1 0 KO.KF $S%*G K1# 0GI . D6%06 1# 1*6 K1# FK1.vl 0
K1#D1K 0 1S 1%[0IF.6L% 1 G1 061 | SQ.0G1# GF7..G1DF 1 0.1 GF FVFKS[J1
FOIF61G11Q 0 GF 00 0[J1
= 0%10G1 FO 11DDJ1 1 %F 06j% 1 %E 1# 1 IFDI1 F 061% 7 KO%L
F.K0%%FQO0G1 GF DSO | FIF.60[J1# DF.G10 KLF |Y j6FDF 1 GD 1D61 .1 p
ROG1 0%6 Q1 HP GFD6F FQ IF.61
"= 1 %F 06j% 17.0 GO7DKO O0[J1 F K1.6%1 F Fl 6F%I1D GF K1l %1 0o
[J1 GO FQO GOGF G1 061#00 O[J1 1 *6 KO# 0GI . D6%06 0# D1K 0 F FK1.vl KO GF
DSO FG [J1# F XS0.61 | F7KLK 0 G1D %FDS 60G1D D1W%F 0 QFD6J1 1%[0IF.6L% 0 F
06% 1. 0 # 06F.GF%L# .1 XSF K1SWF%# 01 XSF G D bF 1 0%6 Q1 HR# GFD6F FQ IF.0
61
p 0= 11DDJ1 0%0 0 FVFKS[J1 GOD 06 GOGFD GF XSF 6%060 FD6F 0%6 Q1#
1GF%L D1 K 60% 01 % WS.0 GF 1.60D 0D %1 G].K OD 1S .71%I0[bFD %F D60D
FI F
p He = BF%J1 0DD .0G1D %001D .J1 .7F% 1%FD 0 GFO G 0D 0%0 KS| % IF.61
GOD K1. 1KO[bFD# %FD60[J1 GF .71%I0[bFD# 06F.G IF.61 ID %FXS D [bFD GF G1KS

MH



5
IF.61D F 0%0 0%F0 OO0[J1 GF G Q].K 0D 0 F%*K 0D
p MO= ? GFDKSI % IF.61 G1 G D1D61 .1 0%LQ%071 0.6F% 1% F.DF$0%L 0
0 S%0[J1 GF %FD 1.D0W GOGF G1 .7%061%# .071%I0 GO F
p NO= ZS0.G1 DF 6%060% GF G1KSIF.61D GF KO%L6F% D Q 1D1# %FDF% 0G1 1
K1.7 GF.K0# GF.67 KOG1D K1l FD60D GODD 7 KO[bFD# 1WDF% 0% DF L 1 %FDK% 61
0%LQ%071 Nc G1 0%6 Q1 2R# GFD6F FQ IF.61

$%& 6

% NN= 0GO 1IDDJ1 6F%L SI0 DFK%F60% 0 .KSIW GO G1D DF% [1D GF
011 0Gl.D6%06 1
0%LQ%071 .K1= .KS DF.1D DF% [1D GF DFK%F60% O
= 01 0IF.61 01D 6%0WO0 Y1D F %FGO[J1 GO 060 GOD %FS. bFD
= 1%Q0. O0[J1 G1 %161K1 1 GF F.6%0G0 F DO*GO GF 106E% 0
= 0D.1DF G1D 6%0WO0 Y1D K1l 1 0.GOIF.61 GF 61GOD 0D %1 1D [bFD
FI KS%D1 .0 11 DDJ1
'= 171%.FKIF.61 G1 %FD GF.6F GO 11DDJ1# .1 m6 11 G 0 GF KOGO
[ID# GF .71%I0[J1 DSK .60D 1 0.GOIF.61 GOD %1 1D [bFD
"= 0 1%Q0. O0[J1 G1D %1KFDD1D FQ D 06 1D .071%I0 G1D 0S61D$SG K 0 D#
K1l 0 .SIF%0[J1 GOD LQ .0D 1% 1%GFI K%1.1jQ KO# %SW% KOGOD F 1 BFK%F6Lo
% 1 GO 11 DDJ1 1.GF 71%0! .K S*GOD
' = 0 F.6%FQO# G1 %1KFDD1 %F7F%F.6F 0 KOGO %1 1D [J1 01 F 061%f# O6E 1
G 0DFQS .6F |G D6% WS [J1
' = 10K1l10.YOIF.61 D D6FIL6 K1 GO G D6% WS [J1 GF %1 1D [bFD 01D
F 061%FD F G1D %001D %FQ IF.60 D# 10.6F.G1 1 %FD GF.6F# K1.D60.6FIF.6F
.71%10G1 0 %FD F 61
' = 1F.KOI.YOIF.61# 01 j%QJ1 .KSIW G1 GO D .1 DF# GF Kj 0 GO
060GO0D %FS. bFD K11 0D %FD FK6 0D G D6% WS [bFD
h = 01%Q0. O0[J1 GF DmIS 0 G0$S% D %SG].K 0 G11 .0.6F GO 1l DDJ1#
XS0.61 01D 0DDS.61D 10 D %F F 0.6FD# D1W 1% F.60[J1 GF DFS %FD GF.6F
h = 1 GFDFI F.Y1 GF 1S6%1D F.K0%Q1D GF6F%I! .0G1D F 1 %FD GF.6F
% NP= GOFO0 %21 0G0 0060 GF KOGO %FS. J1 GO 11 DDJ1 DF%L 0DD .0GO
F1 %FD GF.6F F F1 BFK%F6L% 1 F%SW% KOGO FI 61GOD 0D 71 YOD
0%LQ%071 .K1 = 060 DF%L SW KOGO .1 XS0G%1 GF 0 D1 GO gl0%0
S.K 0 FDS0%FGO[J1 1WFGFKF%L# 0 0G%J1S. 71%IF XSF K1.D6F 1 DFQS .6F
= G060# Y1%0 F 1KO GO %FS. J1
= .1IFD G1D IFIW%1D %FDF.6FD F G1D 0SDF.6FD# K1l FV %FDDO %F7F%].0
K 01D 70 60D$SD6 7 KOGOD
= %FDSI1 G1 FV FG F.6F
'= %F 0[J1 GOD I06E% 0D G D6% WS*GOD# 1% %1 1%[J1# F 061%FD
"= %FQ D6%1D GOD %1 1D [bFD 0 %FK 0GOD F GOD %FD FK6 0D K1.K SDbFD



$%& 6)

%6 NR = D K1l DDbFD K1.60%J1# 0%0 GFDFI F.Y1 GOD DSOD 06% WS [bFD#
K1l ODDFDD1%0IF.61 F K1.DS 61% 0 6EK. K1 FQD 06 0 F FD FK0 O0GO FI Di0D
L%FOD GF K1l F6].K 0# 0 K0%Q1 G1 j%QJ1 GF ODDFDD1%0IF.61 .D6 6SK 1.0 GO
gl0%0 .1D 6F%I1D GF %FD1 S[J1 FD FK*7 KO

1 )8

%6 &, = D DFDDbFD GO gl0%0 DF%J1
= GF .D60 0[J1# 0D %F0 O0GOD 0 CGF$0.F %1 DSWDFXiF.6F O F F [J1# 0%0
1DDF G1ID FF 61D F F F [J1 GO FDO
= 1%G .L% OD# 0D %F0 O0GOD ID DFQS.GOD 7F %0D# K1l .*K 1 ID CU Mf Y1%0D
"GFOF.1 F F 6% .60a# K11 Mf "6% .60a | .S61D GF 61 F%g.K 0
= FV6%01%G .L% OD# 0D %F0 O0GOD FI GOD 1S Y1%0D G F%DOD G1D %F7 V0o
G1D 0%0 0D 1%G .L% 0D
' = D1F.F# 0D %FO0 O0GOD 0%0 Q%0.GFD K1IFI1%0[bFD 1S Y1IF.0QF.D
FDFKOD
%6 NT= D DFDDbFD 1%G .L% 0D 6F%J1# .1%I0 IF.6F# GS%0[J1 GF fN "XS0o
6%1la Y1%0D# K1l %FF.GF.G1
= FXSF.1 V FGF.6F K1l GS%0[J1 GF CP XS .OFa |.S61D#
| %1%%1QL F D# GFD6 .0G1 |I06E% 0 G1 FV FG F.6F F 01D 1%0G1%FD .DK% 61D XSF
6F.Y0I K11S. KO[J1 0700F%
= %0.GF V FG F.6F# GFD6 .0G1# DSKFDD OIF.6F# ID K1IS. KO[bFD GF
GF%0.[0D F 01 GFWO06F FI 61%.1 GF 0DDS.61D GF %F F g.K0 S. K 0# 1WFGFKFo
%J1 0D FDK% [bFD
= ?%GFI G1 0# K1l GS%0[J1 GF GSOD Y1%0D# %1%%1QL FD 1% SIO
Y1%0# 0%00 %FK 0[J1 GO 0S60G1 GO
' = 1IS. KO[bFD 0% O0IF.60%FD# DF .J1 71% FDQ160G1 1 6FI1 GO
?%GFI G1 0F.1 F%*1G1 %FD60.6F# GFD6 .0G1 01D 'F%FO0G1%FD .DK% 61D# 0 6F%0
.0.G1 DF 1D %F %FDF.60.6FD GF KOGO 0%6 G1 1S> 1K1 0% O0IF.60%
DFDDJ1 FV6%01%G .L% 0#611 GS%0[J1 GF fN "XS06%1a Y1%0D# DF%L
GFD6 .0G0# FVK SD OIF.6F# | GDKSDDJ1 F 160[J1 GOD I06E% OD# 1W$F61 GF DSO
K1. 1K0[J1
p 0= gl0%0 S.K 0 %FS. % DFL# FV6%01%G .0% OIF.6F# XS0.G1
K1.1KOGO F1 %F7F 61# F 010 1% 0 OWD1 S60 GF DFSD IFIW%1D# 1S F 1 DFS
%FD GF.6F# XS0.G1 Y1S F% I06E% 0 GF .6F%FDDF %F F 0.6F F S%QF.6F 0 GF WF%0%

MN



p#HO= ? %FD KF 6F GO0%L K1.YFK IF.61 GO K1. 1K0[J1 01D IFIW%1D GO
gl0%0# K1l 0.6FKFG].K 0 I*.10 GF fM "6%]Da G OD# IFG 0.6F K1IS. KO[J1
G %F60 K11 %FK W1 GF 160# F FG60! 07 VOG1 .1 1KO GF K1DG6SIF

pMO= BF.G1 1% .K06 0G1 %FD GF.6F# F FD6F ODD | F.6F.GF%# 0 K1. 10
KO[J1 70% DF L FI BFDDJ1# KOD1 FI XSF DF%L 7F 60 K11S. KO[J1 FDK% 0 0 F.0D 01D

D 6F%I1D G1 0%LQ%071
0.1$Q [%# 70%L K1.D60 .0 60 FV 1D [bFD GF 116 1# DF.G1 G D F.DOGO SW KO[J1
GF G60
% Pf= gl0%0 1GF%L %FO O0% DFDDJ1 D1 F.F 0%0 K1IFI11%0[bFD
FDFKOD 1S %FKF [J1 GF 0 OD F%D1.0 GOGFD# 0$S*O1 G1 %FD GF.6F 1S 1%
GF WF%0[J1 G1 F.L% 1# IFG 0.6F %FXSF% IF.61 GF C3M "YSI 6F%[1a G1D 'F%FO0o
G1%FD 1S *GF%FD XSF %F %FDF.6FI FDDF .mIF%1# 06F.GF.G1 DF XSF
= FI DFDDJ1 D1 F.F# 1GF6J1 DF% 0GI 6 G1D K1. GOG1D | FDO F .1
F.L% 1
= 0 DFDDJ1 D1 F.[# XSF .GF F.GF GF .mIF%1# DF LK1. 1KOGO FI DFDDJ1
1S06%0 ED GF 17*K 1 F .F ODj SD0%J1 GO 00 %0 1D 1%0G1%FD %F OIF.6F GFD Q.00
G1D F1 %FD GF.6F
0%LQ%071 |. K1 =D GFIO D Y1IF.0QF.D#DF%J1 %FD60GOD GS%0.6F %1%0
%1Q0[J1 GO DFDDJ1 1%G .L% 0 F 1% %001 .J1 DS F% 1% 0 Mf "6% .60a |.S61D
%6 PC = 1GF%L 0DFDDJ1 DF% DSDF.DO 1% K1. F.].K0 GO 10.S6F.[J1
GO 1%GFI# .J1 DF K11 S60.G1 1 6FI 1 GODSD F.DJ1 .1 %001 %FQ IF.60
% PH= DFDDJ1 G0 gl0%0 Dj 1GF%L DF% F 0.60G0# 0.6FD G1 %001
%F D61 0%0 1 6E%I .1 GF DFSD 6%0WO0 Y1D# .1 KOD1 GF
= 6SIS 61 Q%0 F
= 70 FKIF.61 GF QF.6F 1*6K1G1 S.K* 1
= %FDF.[0.1D GFWO06FD GF IF.1D GF C3M "YSI 6F%[1a G1 .mIF%1 6160
GF 'F%FOG1%FD
% PM=? %001 GF GS%0[J1 GO DFDDJ1 DF%L %1%%1QL F F 1 %FD GF.6F#
GF 17*K 1# 1S 0S61106 KOIF.6F# XS0.G1 %FXSF% G1 F1 1EQ1 GF *GF%FD 1S
1% GF WF%0[J1 G1 F.L% 1# 0%FXSF% IF.61 GF XS0 XSF% 'F%F0G1%# 1% 6F| 1
.S.KO DS F% 1% 0 fC "YSIOa Y1%0# 0%0 K1.6.S0% O GDKSDDJ1 F 160[J1 GO
I106E% 0 GO ?%GFI G1 01S0SG].K0G1BFK%F6L% 1 S.K 0
p 0= ? %FXSF% IF.61 GF %1%%1QO0[J1# XSF 1GF%L DF% 0 %FDF.60G1 |
FDO O6E 1 I1IF.61 GF 1 %FD GF.6F 0.S.K0% 0 ?%GFI G1 0 GO DFDDJ1
DFQS .6F# DF%L F%WO0 # %F7 VO%L 1 DFS %001# .J1 6F%L G DKSDDJ1 .FI F.KOI .Y0o
IF.61 GF 160[J1 FDF%L 160G1 F1 %1KFDD1D IWj K1
p HH= ? FDQ160IF.61 GO %1%0 .J1 .6F%%1l F 1 %1KFDD1 GF 160[J1# 1S
1 GF DSO F% 7 KO[J1# .FI G1 %FXSF% IF.61 GF %1%%1QO0[J1 1WD60G1 F1
DS%Q IF.61 GF XSFD6bFD GF 1%GFI
pM7= 0F.G1I06E% 0S QF.6F# 1 %FD GF.6F 1GF%L GF7F% % %FXSF% IF.o
61 GF %1%%1QO0[J1 GO DFDDJ1
pNO= 9%1%%1QO0[J1 GFD6.0G0 0 160[J1 GO I06E% 0 GO ?%GFIG1 0 >R
1GF%L DF% K1.KFG GO K11 0 %FDF.[0 GO 10 1% 00WD1 S60 G1D 'F%F0G1%FD
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p P7 = BF# 01 DF% %FXSF% GO %1%%1Q0[J1 GF DFDDJ1# Y1S F% 1%0G1% /0
6% WS.0# 1 %FD GF.6F 1 .6F%%1I F%L 0%0 DSWIF6F% 0 161D 1 %FXSF% IF.61

pRe= %10G00 %1%%1QO0[J1# .J1 YF 1GF%L DF% %FGSO G1 1 %001# D0 1
DF F.KF%%0G0 0 G DKSDDJ1 F 160[J1 GF I06E% 0 FI GFWO6F

% PN= 0%0 010.S6F.[J1 GO 1%GFI# %FD F 61 F 0SD6F% GOGF GOD DFDD *4D4
DF%J1 1WDF% 0GOD 0D DFQS .6FD %FQ 0D

= Bj 'F%FOG1%FD 1GFl 6F% ODDF.61.1 F.L% 1

= .J1 DF%L F%I 6 GO 0 K1. F%DO[J1 XSF F%6S%WF 0 F 6S%0 GF G1KSIF.o
61D# KYO0IOGO 0 0 160[J1# K1IS. KO[bFD GO FDO# G DKS%D1D F GFWO6FD
= 1 %FD GF.6F 70 0%L DF.60G1# 1D GFIO D 'F%FO0G1%FD GF E# 0 .J1 DF%

XSF 7D KOIF.6F | 1IDDW 60G1D

"= 1 1%0G1% SDO0%L GO 6% WS.0 | Y1%0 G1 %0.GF V FG F.6F# .0D
K11S. KO[bFD GF GF%0.[0D F .0D K1IS. KO[bFD 0% OIF.60%FD# 1S GS%0.6F 0D
G DKSDDbFD# 1GF.G1# 1%EI# 70 0% G1D | K%171.FD GF 0 0%6FD DFI %F XSF# .1
.6F%FDDF GO 1%GFI# 1 %FD GF.6F 0 D61 .J1 DF 1 SDF%

"= 01 0% GOWO0.KOGO# 1 1%0G1% FI .F.YSIOY j6FDF 1K FKL700] 1 GF
K1D60D 0%0 FDO

' = 0.F.YSI 'F%F0G1% DF%L F%I| 6 G1 70 0% DFI FG % 0 00 %0 F DFI
XSF 1 %FD GF.6F 0 K1.KFGO# F D1IF.6F 0jD FDDO K1.KFDDJ1 DF%L 0.160G1 1
G DKS%D1
= DF 1 'F%F0G1% %F6F.GF% 700% 1S F%I0.FKF% .0 6% WS.0
0.6 %FQ IF.60 IF.6F# 1 %FD GF.6F 0GF%6 1L# DF 0FD0% GFDDO 0G F%6].K 0# 1
1%0G1% .D D6 % FI 70 0%# 1 %FD GF.6F GO%L 1 DFS G DKS%D1 1% 6F%l .0G1

' =DFI XSF 1 %FD GF.6F GF% 1% 7 .G1 1 G DKS%D1# FD6F .J1 DF%L 10 D
0.160G1

h = DF 1 'F%F0G1% F%6S%W0% 0 1%GFI 1S 1 0.GOIF.61 %FQ IF.60 GO
DFDDJ1# 1 %FD GF.6F 1GF%L KF.DS%L 1 1%0 IF.6F# 1S K1.71%IF 0 Q%0 GOGF#
%111 F% 00 KO[J1 GOD DO.[bFD %F D60D .FD6F FQ IF.61

h =1'F%FO0G1%# 01 70 0%# G % Q %L 0 00 %0 01 %FD GF.6F# 1S01D 'F%F0G10
%FD GF 11G1 QF%0

h = %F7F% .G1 DF# FI G DKS%D1# 0 K1 FQO# 1 'F%F0G1% GF F%L %FKFGF% 1
DFS .1IF GF 6%060IF.61 GF BF.Y1% 1S GF 'F%F0G1% XS0.G1 0FF DF G % Q %# 1
'F%F0G1% G0% YF L1 6%060IF.61 GF VKF].K0

h = .F.YSI'F®%F0G1% 1GF%L %F7F% % DF GF 71%I10 GFDK1%6]D 1S .$S% 1D0
0 FIW%1 G1 1GF% FQD 06 1 1S0D0S61% GOGFD K1.D6 6S*GOD GFD6F F 1D GFIO D
1GF%FD G1 S. K* 1# G1D D60G1D F GO F mW KO# ID .D6 6S [bFD .0K 1.0 D 1S
KYF7F GF D60G1 FD6%0.QF %1 K1l 1 XSO 1 >%0D 10.6F.YO %F O[bFD G 1IL6 0
KOD

h = .J1DF 1GF%L .6F%%1l F% 1 1%0G1%# DO 1 K1.KFDDJ1 FD FK 0 GFD6F
0%0 F 0.60% XSFD6J1 GF 1%GFI 1S 0%0 0 0%6FL 1# F .1 KOD1 GF K1IS. KO[J1
%F F 0.6F XSF 1 %FD GF.6F 6 F% 0700F%

h'= 0XS0XSF% FDD10 E FGOG1 7SI0% .1 %FK .61 G1 F.L% 1

h' = 1'F%F0G1% D1IF.6F DF 0 %FDF.60%L FI F.L% 1 FI 6%0$F ODDF 1
K1l F61

MR



%6 PP = ? 'F%F0G1% D1 1GF%L 70 0%# .1D FV %FDD1D 6F%I1D GFD6F FQ o
IF.61

= 0%0 0 %FDF.60% %1 1D [bFD

= 0%0700F% K1IS. KO[J1 1S F%D0% 0DD 161D G F%D1D# | Y1%0 G1 FV FG o
F.6F 1S GOD 1IS. KO[bFD 0% OIF.60%FD
= DIW%F %1 1D [bFD FI G DKSDDJ1

'= 00#XSFD6J1 GF 1%GFI

"= 0%0 %FK 010[J1

" = 0%0 F.KOI.Y0% 0 160[J1

' = 0$S*0O1 G1 %FD GF.6F# 0%0 K1.6FD60% OKSDO[J1 FDD10 | %j % 0
K1.GS60 7F 60 GS%0.6F 0 G DKSDDJ1# 1S 0%0 K1.6%0G OF% 1 XSF YF 719
.GF GOIF.6F# 06% WS*G1 K111 1 . J1 FDD10

%6 P2= F.YS| GDKS%D1 1GF%L DF% .6F%%1l G1 1S 6%0.D7F% G1 0%0
1S6%0 DFDDJ1#D0 1 DF7 .G1 1 6FI 1 0 F F GFD6.0G1# 1S 0%0 0%6F GO DFDDJ1 FI
XSF GF F DF% %17F% G1# 0DY j6FDFD G1D 0%6D PC# PH# PN# h # Rf MOF RM GFI
FQIF.61

%6 PT= 1 %FK.61G1 F.L% 1# GS%0.6F 0D BFDDbFD ?%G .L% 0D F V6%01%0
G .L% OD# Dj DF%J1 0G| 6 G1D 1D'F%F0G1%FD# 1D V 'F%F0G1%FD# 1D7S.K 1.L.% 1D G
gl0%0# FI DF% [1 1KO F 1D$1%.0 D60D K%FGF.K 0G1D 1S 0S61% GOGFD XS0.G1
K1. GOGOD GF GOIF.6F 6%0$0GOD# .1D 6F%I1D G1 0%6 Q1 PN .K D1 h'

p H= BF%L# 60IWEI# 0GI 6 G1 1 OKFDD1 0 0% OIF.60%FD GF 1S6%0D 0DOD
FQ D06 0D

p HU= 0D DFDDbFD D1 F.F# XS0.G1 F%I 6 G1 1 .Q%FDD1 GF 0S61% GOGFD G1
F.L% 1# 1D K1. 6FD DF%J1 7F 61D GF 10.F %0D 0 ODDFQS%0%# 60.61 01D K1. GOG1D
K11 01D 'F%F0G1%FD# SQO0%FD GF6F%| .0G1D

p MO= 0 F%L SQO%FD GF Y1%0D %FDF% 0G1D 0%0 1D K1. GOG1D

p NB= 1 mW K1 DF%L 7%0.XSFOG1 1 OKFDD1 ID Q0 F% 0D 0%0 0DD D6].K 0
K111 1 %FK .61 G1 F.L%1

%6 PU= 6%0.DIDDJL 1% %LG 1# WFI K111 0 Q%0 0[J1 GO DFDDJ1 GO
gl0%0# GF F.GF GF %E 0 0S61% O0[J1 G1 %FD GF.6F F 1WFGFKF%L ID .1%I0D
7VO0GOD FO0 FDO

$9&
2 6

%6 Rf= Y1%0G1 .*K 1 GODFDDJ1# 1D FIW%1D GO FDOF 1D 'F%F0G1%FD
1KS 0%J1 1D DFSD SQO0%FD

p CG= >*W 0 BOQ%OK O GF F%L 7 KO%# GS%0.6F 61G1 1 6FI 1 GO DFDDJ1#
D1W%F 0 FDO# |G D 1D [J1 GF XSFI GF 0 XS DF%700F% SD1

p HO= KYO0.G1DF %FDF.6F .0 0ODO F1 IF.1D C3M 'Sl 6F%[la K1D



'F%FOG1%FD# 1 %FD GF.6F GFK 0%0%L OWF%60 0 DFDDJ1# %17F% .G1 0D DFQS .6FD
00%0D eB?> ? @A? B ? ?
7B ?BB?B > ?BS
pMO= J1 DF F% 7 KO.G1 1 XS1%SI| GF %FDF.[0# 1 %FD GF.6F 0QS0%G0%L#
GS%O0.6F IF 0 Y1%0# XSF FF DF K1l F6F# DF.G1 1 %F60%GOIF.61 GFGSO G1 G1
6FI 1 GFD6.0G1 .1 FV FG F.6F BF F%DD6% 07060 GF .mIF%1# 1 %FD GF.6F
GFK 0%0%L XSF .J1 1GF YO F% DFDDJ1# GF6F%I .0.G1 0 06% WS [J1 GF 70 60 01D
0SDF.6FD 0%0 1D F7F 61D FQOD
% RC= WF%61 1D 6%0W0 Y1D# 1 DFQS.G1 BFK%F6L% 1# 70%L 0 F 6S%0 GO 060 GO
DFDDJ1 0.6F% 1%# DF.G1 0 IFDIO 1D6010 %FK 0[J1 G1 F.L% 1
p C = 0 GDKSDDJL GO 060 KOGO 'F%F0G1% 1GF L SD0% GO 00 %0# 0%0
0 %FDF.60% %F6 7 KO[J1 1S 1SQ.L 0
pHO= %FDF.60G1 %F6 7 KO[J1 G1 FG G1 GF 1SQ.0[J1 GO060# 1 F.Lo
% 1 GF WF%0%L 0 %FD F 61 %1 0G0 0 %F6 7 KO[J1# DF%LO IFDIO .K S*G0 .0 060 GO
DFDDJ1 FI XSF 1K1%%FS 0 DS0 160[J1# OKF 600 | SQ.0[J1 DF%L 0 %0GO0 .1 0 060
p MO= \F 60 0 0 %FK O[J1 GO 060# 1 %FD GF.6F GF6F%I .0%L 01 % IF %1
BFK%F6L% 0 0 F 6S%0 GO 106E% 0 G1 FV FG F.6F# 1WFGFKF.G1 0DFQS .6F 1%GFI
= VFGF.6F 1% S.G1 G1 %F7F 61
V FG F.6F 1% S.G1 GF G F%D1D
= V FG F.6F 0 %FDF.60G1 F 1D 'F%F0G1%FD
pNc= 0 F6S%0G1 FV FG F.6F 1% S.G1D G1D 'F%F0G1%FD 1WFGFKF% DF L0
DFQS .6F 1%GFI
= IF.GODO F ?%Qg. KO S.K 0
= %1$F61D GF FD
= %1$F61D GF FK%F61D FQ D 06 1D
'= %1$F61D GF FD1 S[J1
'= FXSF% IF.61D
' = .G KO[bFD
' = 0%FKF%FD F 1l DDbFD
' = FKS%DI1D
h = 2S6%0D I06E% 0D
%6 RH= ? 6FI 1 XSF DF DFQS % | F 6S%0 GO I06E% 0 G1 FV FG F.6F DF%L
GFD6 .0G1 01D 'F%FOG1%FD .DK% 61D 0%0W9%F FD K1IS. KO[bFD# 1GF.G1 KOGOSI
70 0% 1% K .K1 |.S61D# .J1 DF.G1 F%I 6 G1 0 0%6FD
p 0= BFI %F XSF SI'F%F0G1% 6 F% K1IS. KO[J1 0700F% | FDO# 1S 01
F.L% 1# GF F%L 700] 0 1%0 IF.6F# 1S %FG Q 0 0%0 SW KO[J1# .J1 1GF.G1
DF%7F 0 K1l 0$S.60G0 1S 6%0.DK% [J1 GF G1KSIF.61D
pHO= .DK% [J1 GF 1%0G1%FD DF%L 7F 60 .0 FDO# FI KO%L6F% FDD10# FI
%1 %j % 1 GS%O0.6F 0 DFDDJ1

$11&
6

% RM=\.G11 FXSF.1FV FG F.6F 1% FDQ160G10Y1%0 1S 1% 70 60 GF

MT



1%0G1%FD# 1 %FD GF.6F 0.5S.K0%L 1 %0.GF V FG F.6F# 1GF.G1 1D'F%F0G1%FD
.DK% 61D SD0% GO 00%0 F1 %001 ILV I1 GF CP "XS .OFa |.S61D# .K S .G1
.FDDF 6FI 1 1D 0 0%6FD

0%LQ%071 |. K1 = KYO0IOGO G1D 'F%FO0G1%FD# .DK% 61D .1 %1 %j % 1#
IWFGFKF%L 01%GFI GF .DK% [J1

%6 RN = 1 %0.GF V FGF.6F 6%060%DFL GF XS0 XSF% 0DDS.61 GF
.6F%FDDF mW K1

%6 RP= gl0%0 1GF%L GFD6.0% 1 %0.GF V FG F.6F 00 K1IFllo
%0[bFD GF 060 D Q.7 KO[J1 .0K1.0# FD60GSO F IS.K O# 1S .6F%%1l F% 1D
6%0WO0 Y1D 0%00 %FKF [J1# KI F.L% 1# GF 060D F%D1.0 GOGFD# GFDGF XSF 0DD |
%FD1 01 %FD GF.6F# 1S GF WF%0% 1 F.L% 1

BF[JL I

%6 RR=\.G1 1 %0.GF V FG F.6F# 1% FDQ160G00 Y1%01S 1% 70 60 GF
1%0G1%# 6%060% DF L GO I06E% 0 GFD6 .0G0 | ?%GFI G1 0

p H=? %FD GF.6F 01 0.5.K0% 0 ?%GFI G1 0# GF6F%Il .0%L 0 F% 7 KOo
[J1 GF XS1%Sl# D1IF.6F# %1DDFQS .G1 0 DFDDJ1# DF FD6 F% %FDF.6F 0 10 1% 0
OWD1 S60 G1D 'F%F0G1%FD

pHO= J1 F% 7 KO0.G1 1 XS1%SI GF XSF i060 1 p 0.6F% 1%# 1 %FD GF.6F
0QS0%G0%L K .K1 I1.S61D 0.6FD GF GFK 0%0% F.KF%%0G0 0 DFDDJ1# GF6F%I .0.G1
06% WS [J1 GF *L 60D 01D 0SDF.6FD# 0%0 F7F 61D FQO D

p MO= O0SD].KO D 160[bFD FXS 0%0I DF# 0%0 61G1D 1D F7F 61D I
0SD].K 0 ID DFDDbFD# %FDDO 0G0 0 XSF DF F% 7 K0% 06*6S 1 GF 1WD6%S[J1 0% OIF.o
60% FQ*610# ODDI| K1.D GF%0GO 0 XSF 71% 0 %1 0G0 FOD WO0.KOGOD 1S DSOD
GF%0.[0D F K1IS. KOGO| FDO

% R2= ? 6FI 1 %FDF% 0G11?%GFI G1 0 1GF%L DF% %1%%1Q0G1 F1
%FD GF.6F# GF 17*K 1# F1 1EQ1 GF *GF%# 1S F1 F.L% 1# 0 %FXSF% IF.61
F®%WO GF XS0 XSF%'F®%F0G1%# 1% %001 .J1 FVKFGF.6F 0SI0Y1%0

%6 RT=\.G116FI1G0DFDDJ# 1 %FD GF.6F F.KF%%0%L 0.S.K0.G1 0
?%GFI G1 0 GO DFDDJ1 DFQS .6F

0%LQ%071 ~. K1 = J1 DF%L GFD Q.0G0 ?%GFI G1 0 0%0 0 % IF %0
DFDDJ1 F.L% 0 GF KOGO DFDDJ1 FQD 06 0

%6 RU= ? %FD GF.6F 1%Q0. O0%L 0?%GFI G1 01WFGFK GOD 0D % 1% GOo
GFD F %F7F%].K 0D

p D= 1.D60%J1 GO ?%GFIG1 00D I06E% 0D .J1 0 %FK 0GOD GO 0S60 GO
DFDDJ1 0.6F% 1%# K1l %1KFG].K 0 DIW%F 1S6%0D G1D Q%S 1D 0 XSF F%6F.[0I

p HO= %1 1D [J1 FI ?%GFI G1 0GFDGF XSF FI K1.G [bFD %FQ IF.o
60D F K11 0%FKF%FD GOD 11 DDbFD 0 XSF 71 G D6% WS*GO

$%& "

!
%6 2f= BF FDQ160G0 0 ?%GFI G1 0 0.6FD G1 6FI 1 %FDF% 0G1# 1S .J1

MU



YO F.G1 I06E% 0 0DF% 160G0# 1 %FD GF.6F K1.KFGF%L 0 0 0<0 01D 'F%F0G1%FD
DK% 61D 1S .G KOG1D F 1D *GF%FD 0%0 K1IS. KO[bFD 0% OIF.60%FD

0%LQ%071 |. K1 = ZS0.G1 .G KOGL1 F1D GF%FD# 1D 1%0G1%FD DF6
KYOIOG1D# 0 6F%.0GOIF.6F# 1% 0%6 G1D 1S >yK1D 0% OIF.60%FD# 1% F%*1G1
J1 FVKFGF.6F 0 Cf ‘GFOa | .S61D 0%0 KOGO 'F%F0G1%

2C= 0D 1IS. KO[bFD 0% OIF.60%FD# 1D'F%F0G1%FD 70%J1 10. 7FDo

60[bFD GF 06 6SGFD FDD10 D 0DDSI GOD GS%0.6F 0 DFDDJ1 .1 FVF%K*K 1 G1 10.G061
1S G4 KO%L6F% 0%6 GL% 1

p D= .DK%[J1 0%070 0% .0D 1IS. KO[bFD 0% OIF.60%FD# DF%L D1 K o
60G0 GS9%0.6F 0 DFDDJL F 0.160G0 K%1.1 1Q KOIF.6F F 1 % IF %1 BFK%F6L% 1# FI

%1 %j % 1

pHO= J1 1GF%L 1 1%0G1% GFD 0% DF GOD 7.0 GOGFD GOD 1IS. KO[bFD
0% OIF.60%FD# .FI DF% 0 0%6F0G1

p MO= ? 'F%F0G1% FI Y j6FDF 0 QSI0 1GF%L SD0% GO 00 %0 10D GF
SI0 FO# .1 Y1%L% 1 GFD6 .0G1 0D 1IS. KO[bFD 0% OIF.60%FD

pNO= J1 YOF.G1 10D 1%0G1%FD .DK% 61D .0D 1IS. KO[bFD 0% OIF.0
60%FD# 1 %FD GF.6F GFK 0%0%L F.KF%%0G0 0 DFDDJ1

$%& "
#

%6 2H = DFDDJ1 F.L% 0 GO gl0%0 DF%L 6%0.D71%I0G0 FI 11DDJ1
F%0 # D1W 0 G %F[J1 GF DFS %FD GF.6F 0%0

= FWO6F GF I06E% 0 %F F 0.6F# 1% %1 1D60 K1.$S.60 G1D *GF%FD# 1S0
%FXSF% IF.61 GF C3M "SI 6F%[la G0 6160 GOGF G1D IFIW%1D GO gl0%0

= GDKSDDJ1 GF %1$F61GF F GF .K06 0 1S 0%# GFDGF XSF %FDF.6F 1

1%0G1% XSF %L GF7F.G] 1

I = K1I 0%FK IF.61 GF BFK%F6L% 1 S.K 0

p Ce= 1 KOD1 G1 .KD1 % IF %1# 70 0%J1 % IF %O0IF.6F# 1 0S61% G1
%FXSF% IF.61# 1D *GF%FD GO 01%0 F GO .1% 0# KOGO SI 1% Mf "6% .60a
| .S61D# DFQS .G1DF 1D GFIOD *GF%FD# F1 %001 GF Rf ‘DFDDF.60a | .S61D#
G G G1D# %1 1%K 1.0 IF.6F# F.6%F 1D XSF GFDF$0%FI# F GF 1 D# GS%0.6F CHf
'KF.61 F .6Fa |1.S61D# 1D 1%0G1%FD XSF 6F.YOl %FXSF% G1 .DK% [J1$S.61 |
FDO# DF.G1 Cf "GFOa | .S61D# 0%0 KOGO Sl

pHO= 0Y j6FDF G1 .KD1 # 1GF%LSD0% GO 00 %0 XS0 XSF% D Q.06L% 1
Gl %1%$F61 1S 1'F%F0G1% .G KOG1 F 1 %FD FK6 1 0S61% 1% Mf 6% .60a | .So
61D# DFI 0 0%6FD# 1WDF% 0.G1 DF 0%0 1 GFWO06F 0D G D 1D [bFD K1.6 GOD .1D pp OF
NOG1 0% CNN# F .1D pp HO#Me G1 0%6 CN2# GFD6F FQ IF.61

p MF= KO.[0GO |7 .0 GOGF GO 11DDJ1 F%O0# 0 DFDDJ1 F.L% 0 6F%L
0.GOIF.61 0 0%6 % GO 70DF FI XSF# 1%G .0% OIF.6F# DF F.K1.6%0 0l 1D 6%0WO0o0
Y1D

Nf



# * "
1y
BF[01

% 2M= 1.D GF%0% DF L XSFD6J1 GF 1%GF| 61G0Gm GO D1W%F 0 .6F% %Fo
60[J1 GFD6F FQ IF.61# .0 DSO %L6 KO FVK SD 0#1S %F OK 1.0G0 K11 0D 1.D6 6S 0
[bFDFO F ?%Qg.KOG1 S.K* 1

p He S%0.6F0?%GFI G1 0Dj 1GF%L DF% F 0.60G0 XSFD6J1 GF 1%GFI
06 .F% 6F G %F60IF.6F |106E% 0 XSF .F 07 QS%0

p HU= F.YSI 'F%F0G1% 1GF%L FVKFGF% 1 %001 GF 6%]D | .S61D 0%0
71%IS 0% 0 XSFD6J1 GF 1%GFI# .FI *0 0% D1W%F 0IFDIO 10 D GF SI0 FO

pM= 1 I1IF.61 GF 160[J1# 1S XS0.G1 DF G DKS6 % F 160% %FGO[J1
7.0#0 00%0 0%0 71%IS 0% XSFD6J1 GF 1%GF| Dj 1GF%L DF% K1.KFG GO SI0
FO Ol F061% F SI0O FO 0 1S6%1 'F%F0G1% GF %F7F%].K 0 01 0S61% GO %1 1D 0
[J1 % .K 0 1S OKFDDj% 0 FI 160[J1

P& = XSFD6J1GF 1%GF| GF F DF% 1W$F6 0# K 0%0IF.6F 71%IS 0GO0# K110
.G KO[J1 %FK DO GO4 G D 1D [bFD %FQ IF.60 D 1S K1.D6 6SK 1.0 D KS$0 1WDF% g.0
K ODF %F6F.GO F SK GO%# F %F7F% % DF 0 106E% 0 6%060G0 .0 1K0D J1

p P7 = BF 1'F%F0G1% .J1 .G KO # . K 0 IF.6F# 0D G D 1D [bFD K| XSF DF
ODDF.60 0 XSFD6J1 GF 1%GFI# 0.S.K 0.G1 DF# 1 %FD GF.6F .J1 F%I 6 %L 0 DSO
F%I0.].K 0 .0 6% WS.0 F GF6F%I .0%L 0 FVK SDJ1# GO 060# GOD 00%0D 1% FF
%1.S.K 0GOD

pRO= F1D GF *00% D1IF.6F 1 S61% F 1S6%1 'F%F0G1% XSF K1.6%0
0%QSIF.6F 0 XSFD6J1 GF 1%GFI DF%L %FD1 GO F1 %FD GF.6F GO DFDDJ1# .J1
DF.G1 *K 61 01'F%F0G1% 1 1% DF 0GFK DJ1 1S K% 6 KL 0 .0 DFDDJ1 FI XSF 71%
%17F% GO

p 0= ? 'F%FO0G1% XSF XS DF% K1IF.60%# K% 6 KO% 0 GFK DJ1 G1 %FD GF.6F
1S K1.6%0 F 0 %16FD60%# 1GF%L 700] 1 .0DFDDJ1 DFQS .6F# 6F.G1 %F7F%].K 0 0%
SD1 GO 00 %0# GS%0.6F Cf "GFOa |.S61D# 1 Y1%0 G1 FV FG F.6F

p TO= ? 'F%FOG1% Fl XSO XSF% KOD1# 1GF%L %FK1%%F% GO GFK DJ1 G
%FD G].K0 0%0 1 F.L% 1# DFI F7F 61 DSDF.D 1# 1S .G1DF 0 1I1DDJ1 GF
1.D6 6S [J1# ISD6[0 F FGO[J1 XSF 6F%L 1 %001 ILVI1 GF 6%ID G OD 0%0
%1.S.K0% SW KOG1 1 0%FKF% GO 1IDDJ1# 1 %FKS%D1 DF%L DSWIF6 G1 .0
DFDDJ1 DFQS .6F 01 F.L% 1

p{F= 0Y jBFDF G1 0%LQ%071 0.6F% 1%# 1 'F%F0G1%# K1l 10 1 OIF.61
GF C3M ° SI 6F%[1la K1D %FDF.6FD# 1GF%L %FXSF%F% XSF 1 F.L% 1 GFK GO#
IFG 061# DIW%F 1 F7F 61 DSD F.D 1 01 %FKS%D1

p Cf= D GFK DbFD D1W%F XSFD6J1 GF 1%Gz%. DF%J1 %FQ D6%0GOD F .GFVO0
FI %1 FD FK 0 # 0 XSF DF G0%L# 0.S0 IF.6F# 0l 0G S QO[J1 0 FDO F OW19%0%L
%1$F 1D GF %FD1 S[bFD %1 1.G1# DF 71% 1 KOD1# OD 0 6F%0[bFD %FQ IF.60 D GF
GFK1%%F.6FD# 0%0 0 %FK 0[J1 FI 6F1 1 YLW # 0.6FDGF7.G1 1W]. 1
















































































































































